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� ������������ �
����/ ���&- '� �&��0 ��(� �&- #���- ��(� ��
&�) �1 *++,- 23  -

.� �&��  �4�)5�� '� ����(��1 ���$�6 ����4�( )�7���8 � '��
 �)����� �� ��(9� ')���)�( 4$8 )84� 6�4��1 ')�4 ��($8:;�� ���
��)�  ����� 6)���8 �6#����8 �� $���9� ����4�( ���$�6�1 4�"�
"�)��<��$%�9� � ����=)�$%�9� #)�(����!-

.)�4��6������ 4$8  �#4����( ���������� ��� � "�6��� ���
 '�<��$%�� ��! (#6�(1 � ���5� 4$8 ')�'�4�(���$�!1 ')�(�48;��
')������ ��� 6��8��8 ( ���'%:��)�9� �$�  ��-

��<��6���
4����) ������� ��� ��#�1 ')�"�  �) 
- �- �9���(

�������4�(��� )�4��<�������64���$% ���  �(���� ��� 4$8
 '�<��$%�� ��! +3>?1 *+@,-

A©��(� �&�) ��! =� #4�) �(���9!
#��(�) ����1 *++,



�#$%&'()*&$

.)� (9'�$����� $�&�)���)�9� ���'%:��)�9� 6�4���! '� ���
��4�� (9�� $���!  �#4��� (9�#54�� ')��4�$��% ��$�=�#: 4��
 ���<�: �� �& �)����9� '� ����(�� � '�$�5���! ���)�� 4� ����
�)���9� �$=�)����(  ������)9�� '�$#���)����� ���� B '�$#�
C�'�)��� ���� ')������ � � �&���� �8�� )��$�6�<�� � �- 4- .��
C���# &9(��� �)#4�� �&�!�� % &�6 '� �&�81 �)�����)�(����=� ��
')������ �#: )��$�6�<�: 6�4���8-

�� ( �� ')�4 ��($���9� 64� % 6�4���� ')�4# ���)��� �� ���
(�� )�7����- � ���8 #4�($��(�)���$%���  �('�4���� �� $�����
=� )�7���8  �� ��(9� 8($8�� 8 ��')�����9� # $�(���1 =$�(��8
<�$% 6�4���! ( 4)#=�� D ( (9'�$����� ����4��� ��� �� $���9�
�  $�4�(���!1 ')�(�4��9�  �#4�����  '���;%:  ��� ��8��$%��
 � ��($����! � ��$�5����! ')�=)���9- .�C���# ( ��54�� 6�4��
��� '� �&�8 (�$:��� '#��� )������4�<�! 4$8 ')�(�4���8 C���
�  $�4�(���!-

� � 6�4���81 �)��� ������)9� ')� ��!7��1 # $�5���9 ���&�
��4��� �%: '�$#����8 )� ����9� "�)�#$1 )�6$���9� 4$8 ��5�
4�=� (�)�����1 #��6�� $�7%  '� �& '�$#����8 ��- ��)�#$9 5�
�&;�� 4$8 ( �� (�)�����(1 ��� ')�(�$�1 ')�(�4��9 ( =���(�� (��
4�-

.)�4'�$�=��� 8 ���5� � '�$%6�(���� '� �&�8 E���  ')�(�����
��F ')� )�&��� 6� ���'%:��)��1 '�C���# ��54�8 =$�(� ( ��� �(�
�������1 ��  �4�)5��   9$�� �� 4)#=�� =$�(9- ������)9� �&;��
"�)�#$9 E')�=����1 "�)�#$9 �)�'�<�! � 4)-F ')� ���&��4��� ��
'�(��)8:� 8- 	�&$��=)�"��� ��!  '� �� E(� %�� �=)�������9!F
���5� ')�(�4�� ( ��54�! =$�(�- � � C�� #4�&�� ')� ���&��4����
 ��  ��'�)�(��% ��4�$%�#: =$�(#-

�� ��$%�� �6&9�����8 �#��)�<�8 "�)�#$ ')�4��6������ 4$8
�&$�=����8 ')�'�4�(���$: �& #54���8 ����)��$�  �  �#4������
( �#4���)��-

� � 6�4��� '� �&�8 ( )�6$���9� (�)������ ')�7$� ���=��
�)���#: ')�(�)�# �� ')������ ��� 6��8��8�-
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� 4����! )�&��� ')�4$�=��� 8 � (���% ������# '� �)����8
����)'�$8<�����=� �#&��� ��=�  '$�!�� ')� )�6$���9� 4�'�$�
����$%�9� E=)�����9�F # $�(�8�1 � ���5� ')�4���� �)�)�(��%
 (�! �(� � (�6��5�� �� �=� �� =$�4��� � )�6)9(�9� �� ��(9�
"#��<�8�-

�� �)'.,/)*0, 1,%,2&

.# �% �� ��)�6�� 0 ≤ x ≤ 1 ( )�(����)��!  ���� xk = kh,
h = 1/N, (k = 0, ..., N) �6(� ��9 E6�4��9F 6������8 "#��<��
fk = f(xk). �� ��54�� k�� ��)�6�� xk−1 ≤ x ≤ xk '� �)���
'�$���� (�4�

Sk(x) = a0,k + a1,k(xk − x) + a2,k(xk − x)2 + a3,k(xk − x)3 E@F

� �=� ')��6(�4�9�

S′
k(x) = −(a1,k + 2a2,k(xk − x) + 3a3,k(xk − x)2); E*F

S′′
k (x) = 2a2,k + 6a3,k(xk − x); E,F

S′′′
k (x) = −6a3,k. E>F

�9'�$��� (� ( �� (�#�)����� ������ xk (k = 1, ..., N−1) # $��
(�8  �')85���8 4(#�  � �4��� '�$�����(

Sk(xk) = Sk+1(xk), S′
k(xk) = S′

k+1(xk), S′′
k (xk) = S′′

k+1(xk) EGF

� # $�(�� ����)'�$�)�(���8 (� ( �� ������ (k = 0, ..., N)

Sk(xk) = fk. E3F

H�� # $�(�8 '�)�54�:� 4N − 2 $���!�9� #)�(����8 �����
 ���$%�� 4N ((�4���9� ( '�$����� E@F ��C""�<�����(- �$�4��
(���$%��1 ���&��4��� 6�4��% �;� 4(� 4�'�$�����$%�9� # $�(�8-

>



H�� # $�(�8 �� �')�4�$8:� 8 '� ����(��! 6�4���  '$�!��1 � (9�
����:� �6 # $�(�! ')�&$�5���8 "#��<�� f(x)-

.� $� ������)9� ')��&)�6�(���! E� �$:����! a3,k, a1,k, a0,kF
�6 # $�(�! EGF1 E3F '�$#���� 4$8 a2,k (k = 1, ..., N−1) )�6�� ����
#)�(�����/

a2,k−1 + 4a2,k + a2,k+1 = Gk ≡ 3(fk−1 − 2fk + fk+1)/h2, E?F

����)�� C""����(�� )�7��� 8  '���;%: ����4� ')�=����/

a2,k = Pka2,k+1 +Qk, (k = 0, ..., N − 1), E2F

=4� Pk, Qk ����48� 8 )��#))����� '� "�)�#$��

Pk = −1/(Pk−1 + 4), Qk = (Qk−1 −Gk)Pk, (k = 1, ..., N − 1). EIF

���&��4��9� 4$8 )�&��9 "�)�#$ E2F1 EIF 6������8 P0, Q0 ���
��48� 8  '���;%: 4�'�$����$%�9� E=)�����9�F # $�(�!1 (9)��
5���9� ��)�6 a2,0 �1 (�6��5��1 ��)�6 a2,1 � a2,2-

��C""�<���� a2,N �')�4�$8�� 8 $�&� ��'� )�4 �(���� =)��
����9�� # $�(�8��1 $�&� =)�����9�� # $�(�8��  ')�($�������
')� k = N − 1 "�)�#$9 E2F �1 (�6��5��1 #)�(����8 E?F-

� ��$%�9� ��C""�<����9 &#4#� (9)�5��9 E�6 # $�(�! EGF1
E3FF ��)�6 a2,k :

a0,k = fk; E@+F

a1,k = −h
3
(a2,k−1 + 2a2,k) − fk − fk−1

h
; E@@F

a3,k =
a2,k−1 − a2,k

3h
. E@*F

3� �45$$ #$6$/&$ #,1/)'./)7) 8#,*/$/&�

��7���� #)�(����8 E?F ��5�� ')�4 ��(��% ( (�4�

a2,k = C1a01,k + C2a10,k +Ak, E@,F

G



=4� C1, C2 D ')��6(�$%�9� '� ��8��9�1 a01,k D )�7���� �4��)�4�
��=�1 �- �- ')� Gk = 01 #)�(����8 E?F ')� # $�(�8�
a01,0 = 0, a01,N = 11 a10,k D )�7���� �4��)�4��=� #)�(����8
E?F ')� # $�(�8� a10,0 = 1, a10,N = 0- Ak D )�7���� ���4���
)�4��=� #)�(����8 E?F ')� �#$�(9� =)�����9� # $�(�8�1 �- �- ')�
A0 = AN = 0-

J:&9� 4(� 4�'�$����$%�9� E=)�����9�F # $�(�81 (9)�5���
�9� ��)�6 a2,k1 �  #����� (9)�5���8 E@,F ')�(�48� 8 �  � ����
(�4�

q11C1 + q12C2 = w1,
q21C1 + q22C2 = w2,

}
E@>F

)�7���� ����)�! 4��� C1, C21 �  $�4�(���$%��1 a2,k � ( � � ��$%�
�9� ��C""�<����9 '�$����� E@F-

�� �,#&,/.9 %):)(/&.$(;/9<  7#,/&2/9<"
8'()*&=

�F �� ���<�� ��)�6�� 6�4��9 (��)9� ')��6(�4�9�1 �- �-
S′′(0) = f ′′(0), S′′(1) = f ′′(1).
��=4� �����

a2,0 = f ′′(0)/2, a2,N = f ′′(1)/2 E@GF

� ��5�� ��'� )�4 �(���� '�$#���% P0, Q0 � (� '�$%6�(��% 8 "�)�
�#$��� E2F1 EIF-

&F �� ���<�� ��)�6�� 6�4��9 '�)(9� ')��6(�4�9�1 �- �-
S′(0) = f ′(0), S′(1) = f ′(1).
��=4� �6 (9)�5���! E*F1 E@+FBE@*F �����

a2,0 = −1
2
a2,1 +

3
2
(
f1 − f0

h
− f ′(0))/h; E@3F

a2,N = −1
2
a2,N−1 − 3

2
(
fN − fN−1

h
− f ′(1))/h. E@?F

�6 "�)�#$ E@3F � E2F ')� k = 0 ����4�� P0, Q01 � �6 "�)�#$
E@?F � E2F ')� k = N − 1 '�$#��� a2,N .

3



(F ��6��5�� ���&���<�8 # $�(�! K�K� K& ��')���)

S′′(0) = f ′′(0), S′(1) = f ′(1) �$�S′(0) = f ′(0), S′′(1) = f ′′(1).

����(�� �(���� �'� �����# (97� ����48� 8 P0, Q0 � a2,N .
=F .# �% ( 4(#� ')��6(�$%�9�1 �� &$�6��� � ���<�� ��)�6��1

K')�=)�����9�K������ xm � xl (m �= l) )�6)9( �)��%�! ')��6�
(�4��! ��  '$�!�� )�(�� �#$:

[S′′′]k = S′′′
k+1(xk) − S′′′

k (xk) = 0, (k = m, l).

H�� 4� �  #����� "�)�#$9 E@*F

a2,k−1 − 2a2,k + a2,k+1 = 0, (k = m, l), E@2F

�$�1 � $� � '�$%6�(��% (9)�5���8 E?F � E@,F1

a01,mC1 + a10,mC2 = Gm/6 −Am,
a01,lC1 + a10,lC2 = Gl/6 −Al.

}
E@IF

��!4���9� C1, C2 '�6(�$8:� '� "�)�#$�� E@+FBE@,F  � �����%
( � ��C""�<����9  '$�!��-

� $� )�6)9(9 �)��%�! ')��6(�4��!  '$�!�� 6�4��9 ( ')�=)��
����9� ������ x1, xN−1, �� # $�(�8 E@2F ���:� (�4

a2,0 − 2a2,1 + a2,2 = 0, a2,N−2 − 2a2,N−1 + a2,N = 0. E*+F

H�� # $�(�8 (�� ��  #)�(������ E?F ')� k = 1, N − 1 4�:�

a2,1 = G1/6, a2,N−1 = GN−1/6. E*@F

��=4� "�)�#$9 ')�=���� E2F1 EIF '�6(�$8:� '�$#���% ( � a2,k

(k = 1, ..., N − 1). �������8 a2,0, a2,N ��5�� ��!�� �6 # $�(�!
E*+F-

4F .# �%  )�4���(�4)�����9! )�69( �)��%�! ')��6(�4��!
 '$�!�� '� ( �� (�#�)����� ������ ������$��/

Ψ =
N−1∑
k=1

[S′′′]2k =
144
h2

N−1∑
k=1

(a2,k −Gk/6)2 → min. E**F

?



���&��4��� (9'�$���% # $�(�81 � '�$%6#8 a2,k �6 )�7���8 E@,F/

∂Ψ/∂C1 = 0, ∂Ψ/∂C2 = 0. E*,F

H�� 4��� �$=�)��� 4$8 (9�� $���8 ��C""�<�����( � ')�(9� ���
 ��!  � ���9 E@>F- ��$�� (9�� $8:� 8 C1, C2 � ( � ��C""�<����9
 '$�!��-

>� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

.� $� (9&�)� "#��<�� f(x) � (�)����� =)�����9� # $�(�!
')�4�$��%  $�4#:;��/

D ��4��% �� $� ����)(�$�( N EG B 2+F  ������� xk = kh,
(k = 0, ..., N) � �� $� 4���� �)�<����9� ����)(�$�( N1 (≈ 320)
 ������� xj = jh1, h1 = 1/N1, (j = 0, ..., N1).

D �� �����% ��C""�<����9  '$�!��1 � ���5� ( ������ xj 6���
����8 fj , Sj ; f ′j , S

′
j ; f ′′j , S

′′
j . .)� C��� 4$8 ��54�=� xj �#5�� �')��

4�$��% �=� k�! ��)�6��- �94��% �� '����% ��&$�<9 � '� �)���%
=)�"��� '�)��� fj , Sj ; f ′j , S

′
j ; f ′′, S′′. ��� �%1 ��� # ��54�! '�)9

 (�! �� 7��&-
D � ����(��%  ��4��� �% E #4(��(�8 NF- .)� ��')�)9(�� ��

')��6(�4�9� �� f(x) ('$��% 4� ���(�)��! E4� �������� # $�(��F
S → f, S′ → f ′, S′′ → f ′′,  >��1 ,�� � *�� '�)84���  ���(���

 �(����- .)� )�6)9(� f ′′(x) ( ����!�$�&� ����� x '�)84��  ��4��
�� �� &#4�� *�!1 @�! � +�! E �- �- ������!F  ���(�� �(����-

�&4(&)7#,B&2$'0&= ':&')0

@- ��)�#� �- �- ����49 (9�� $���$%��! ����������- �-/
��#��1 @I2+-

*- ����) ��! 
- 
-1 �#$�� 
- �- L� $���9� ����49- �-/
��#��1 @I2I-

2



+(,*, 3� ��������	� ���	�����+�

���
���+� ��
����

J���$%�9!  '$�!�1 ( ��$���� �� ����)'�$8<�����=�1 (  $#�
��� �6������8 6������8 �'')�� ���)#���! "#��<�� ( �4��� #6$�
�)�&#�� $�7% $���$%��=� '�)� ���� ( ��)� ��� �� C��=� #6$�- ��1
��� $���$%�9!  '$�!� ��  �('�4��� �����  "#��<��! ( #6$��1 ��
8($8�� 8 ')��<�'��$%�9�1 � $� C�� "#��<�8 6�4��� ')�&$�5���
��  ����!�$�&�  $#��!��! '�=)�7�� �%:1 ��')���) ( )�6#$%����
C� '�)������-

� 4����! )�&��� ')�4$�=��� 8 '� �)���% ��� ��69(���9! $��
��$%�9! K�� '$�!�K4$8 "#��<�!  ��')�)9(��! � )�6)9(��! (���
)9�� ')��6(�4�9�� � '���6��%  ��4��� �% �=� E� ')��6(�4�9�F
� C��� "#��<�8� E� �� ')��6(�4�9�F-

�)��� ��=�1 ')�4$�=��� 8 (�)���� ��$���$%��=�  =$�5�(�:�
;�=�  '$�!��1 '�$#�����=�  '���;%: ����4� ������%7�� �(�4�
)���(-

�� �)'.,/)*0, 1,%,2&

��)�6�� 0 ≤ x ≤ 1 )�6�&%�� )�(����)�� �� N �� ��!  #6$���
xl = lh, h = 1/N, l = 0, ..., N. � C��� #6$�� 6�4��9 6������8
"#��<�� f(xl) = fl.

.� �)��� 4$8 l �=� #6$� "#��<�: E$���$%�9! &�6� F

Bl(x) =

⎧⎨
⎩

2
3 − t2 + 1

2 |t|3 ')� |t| ≤ 1,
1
6(2 − |t|)3 ')� 1 ≤ |t| ≤ 2,

0 ')� |t| ≥ 2.
E@F

�4� % t = (x− xl)/h.
���(�4��1 ��� Bl(x) ��$���� �� �#$8 ��$%�� �� ��)�6��

xl−2 ≤ x ≤ xl+2, ')���� Bl(x), B′
l(x), B

′′
l (x) ��')�)9(�9 E)� - @F-

.� �)���  '$�!� ( (�4�

S(x) =
N+1∑
l=−1

zlBl(x), E*F

I



=4� ��C""�<����9 zl '�4$�5�� �')�4�$���:-

�� - @

�$8 6������! x �� l− �� ��)�6�� [xl, xl+1] �����

S(x) = Sl(x) = zl−1Bl−1(x) + zlBl(x) + zl+1Bl+1(x) + zl+2Bl+2(x).
E,F

.# �% tl = t = (x− xl)/h. ��=4�

tl−1 = (x− xl−1)/h = t+ 1, tl+1 = (x− xl+1)/h = t− 1,

tl+2 = (x− xl+2)/h = t− 2.

.�4 ��($88 C�� (�$����9 E #����� E@FF ( "�)�#$# E,F1 '�$#�
���� 4$8  '$�!�� Sl(x) � �=� ')��6(�4�9� (9)�5���8

Sl(x) = (V3t
3 + 3V2t

2 + 3V1t+ V0)/6; E>F

S′
l(x) = (V3t

2 + 2V2t+ V1)/(2h); EGF

S′′
l (x) = (V3t+ V2)/h2; E3F

S′′′
l = V3/h

3, E?F

=4� ((�4��9 �&�6������8

V0 = zl+1 + 4zl + zl−1; E2F

@+



V1 = zl+1 − zl−1; EIF

V2 = zl+1 − 2zl + zl−1; E@+F

V3 = zl+2 − 3zl+1 + 3zl − zl−1. E@@F

3� �:#$%$($/&$ 0)CBB&@&$/.)* ':(,=/,

��  ���)�� 64� % ������)9� (�)����9-

���� ������� 	
���
���
�� ����� �����	��

��4�4�� ��C""�<����9  '$�!�� ( (�4�/

zl = fl. E@*F

.)� C��� 4$8 x = xl t = 0 � �6 "�)�#$9 E>F  $�4#��

Sl(xl) = V0/6 = (fl+1 + 4fl + fl−1)/6. E@,F

��6$�=�8 ( (9)�5���� E@,F fl−1, fl+1 ( )84 �C!$�)� ( ��)� ��
�� �� xl, '�$#����

Sl(x) = fl + (fl+1 − 2fl + fl−1)/6 = fl +
h2

6
f ′′l +O(h4). E@>F

�6 "�)�#$9 E@,F  $�4#��1 ��� 4$8 '�$#����8 S0(x0) � SN (xN )
'��)�&#�� 8 4��')�4�$���� f−1 � fN+1 �����1 ���&9 (9)�5���8
f1 − 2f0 + f−1 � fN+1 − 2fN + fN−1 ( "�)�#$� E@>F &9$� $�&�
�#$�(9��1 $�&� ��$9�� (��)�=� '�)84��1 �- �- O(h2).

���1 � $� �6(� ��9 E6�4��9F 6������8 f ′′0 , f ′′N , ��

f−1 = 2f0 − f1 + h2f ′′0 , fN+1 = 2fN − fN−1 + h2f ′′N . E@GF

� $� �6(� ��9 E6�4��9F 6������8 f ′0, f ′N , ��

f−1 = f1 − 2hf ′0, fN+1 = fN−1 + 2hf ′N . E@3F

@@



.�4 ��($88 zl = fl ( (9)�5���8 E2FBE@@F1 )�6$�=�8 fl−1, fl+1 ( )84
�C!$�)� � � '�$%6#8 4�$�� "�)�#$9 E>FBE3F1 �� $�5�� '���6��%1
��� 4$8 xl ≤ x ≤ xl+1 � l = 0, ..., N

Sl(x) = f(x) +O(h2), S′
l = f ′(x) +O(h2),

S′′
l = f ′′ +

{
O(h2) ( (�)����� E@GF1
O(h) ( (�)����� E@3F-

3�3� �,()$ '7(,D&*,/&$E 4)(;6,� .)2/)'.;

� C���  $#��� '�$�5��

zl = (−fl+1 + 8fl − fl−1)/6. E@?F

.)� C��� 4$8 x = xl (t = 0) �6 (9)�5���8 E>F  $�4#��

Sl(xl) = V0/6 =
= fl − (fl−2 − 4fl−1 + 6fl − 4fl+1 + fl+2)/36 =
= fl − h4

36f
′′′′
l +O(h6).

E@2F

�6 (9)�5���8 E@2F (�4��1 ��� 4$8 '�$#����8 S0(x0) � SN (xN )
')�4�� 8 4��')�4�$8�% f−2, f−1, fN+1, fN+2. H�� ')�;� ( �=�
 4�$��%1 '�$�=�8

f−1−4f0 +6f1−4f2 +f3 = 0, f−2−4f−1 +6f0−4f1 +f2 = 0; E@IF

fN−3 − 4fN−2 + 6fN−1 − 4fN + fN+1 = 0,
fN−2 − 4fN−1 + 6fN − 4fN+1 + fN+2 = 0.

E*+F

.)� C��� S(x0) = f0, S(xN ) = fN �����- ���5� �� $�5��
)�6$�5����� ( )84 �C!$�)� 6������! fl−1, fl+1 ( "�)�#$� E@?F �
� '�$%6�(����� "�)�#$ E2FBE@@F � 6���� E>FBE3F '���6��%1 ���

S(x) = f(x)+O(h4), S′(x) = f ′(x)+O(h3), S′′(x) = f ′′(x)+O(h2).

� $�(�8 E@IF � E*+F �6����:�1 ��� �� ��)�6�� [x−1, x0] � [x0, x1]
f(x) 8($8�� 8 �4��� � ��� 5� '�$������ �)��%�!  ��'���- 
���
$�=���� D �� ��)�6��� [xN−1, xN ], [xN , xN+1].

@*



3��� �$()0,(;/9= '7(,D&*,A5&= ':(,=/� �$.)%
/,&?$/;6&< 0*,%#,.)*

�(�4�� �;� �4�# )�(����)�#:  ���#  #6$���

xj = jh1; j = 0, ..., N1; h1 = 1/N1; N1 > N ; N1 �)���� N.

	#4�� ������6�)�(��% "#��<����$

Y =
N1∑
j=0

[
N+1∑
l=−1

zlBl(xj) − f(xj)]2. E*@F

� $�(�8 �����#�� E'� z F C��=� "#��<����$� ∂Y/∂zk = 0 ')�
k = −1, ..., N+1 ')�4 ��($8:�  � ���# $���!�9� �$=�&)���� ���
#)�(����!

N+1∑
l=−1

ak,lzl = bk, E**F

=4�

ak,l =
N1∑
j=0

Bk(xj)Bl(xj), bk =
N1∑
j=0

Bk(xj)f(xj). E*,F

�� )�7���� E'� ��#  # F '�6(�$8�� ��!�� ��C""�<����9 zl1
�1  $�4�(���$%��1 '� �)���%  '$�!� S(x) � �=� ')��6(�4�9� '�
"�)�#$�� E>FBE@@F ')� l = −1, ..., N − 1.
�������
� � �� ���� 
 ���� �������� zN+2 64� % �� ����4���

 8- � $� �#5�� ��!�� S′′′(xN ), �)�&#:;�� �=� ( (9)�5���8� E?F
� E@@F1 �� ��5�� '� �����% �� ��)�6�� [xN−1, xN ] '� "�)�#$�

S′′′(xN ) = S′′′
N−1(xN ),

�- �- �� ��)�6�� [xN−1, xN ] ')� t = 1. �')����1 ����� 5� �&)�6��
��5�� '� �����% S(xN ), S′(xN ), S′′(xN ), � $� C�� #4�&��� ')�
')�=)����)�(����-

@,



�� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

�$8 (9&)����=� (�)����� "#��<�� f(x)1 # $�(�! '� �)����8
� (�4�  '$�!�� ')�4�$��%  $�4#:;��/

D ��4��%  ���� #6$�( xl, (l = −2, ..., N+2); xj , (j = 0, ..., N1).
D .�$#���% zl, fl. ����� ��!�� Sj = S(xj), fj ; S′

j , f
′
j ; S′′

j , f
′′
j 1

� ���5� '�=)�7�� �� max
j

|f (p)
j − S

(p)
j |, p = 0, 1, 2.

D .� �)���% =)�"��� '�)��� fj , Sj ; f ′j , S
′
j ; f ′′j , S

′′
j . ��� �%1

��� # ��54�! '�)9  (�! �� 7��&-
D �4(��(�8 N ')� "�� �)�(����� ��� ���$%��� N11 ')�4��

��� �)�)�(��% '�)84��  ��4��� �� S(p) → f (p) p = 0, 1, 2. ��')��
��)1 (N = 10, 20, 40, 80; N1 = 160). .)� C���1 � $� f ′′′′(x) �=)����
���� E4� �������� # $�(��F1 �� E'' *-* � *-,-F '�)84��  ��4��� ��
4�$5�� &9�% >�!1 ,�! � *�!  ���(�� �(����- � $� 5� f ′′(x) )�6)9(�
��1 �� *�!1 @�! � +�! E������! MF-

���������

@- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1
�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-

@>



+(,*, �� 	����-	����� ������
��F��	
 �	����� 
	�����G
�
+����	����	G �������	�

��� �6(� ���1 (  $#���  � ���9 $���!�9� �$=�&)���� ��� #)�(�
����!   �����)����! '�$�5���$%�� �')�4�$����! ���)�<�! #4��
�� 8 $�=�� '� �)���%  ��48;�! 8 ���)�<����9! ')�<�  -

.� ��($����8 64� % 6�4��� 4��� ������ ���#:  � ���#1 ')�
C��� ��54�8 ���)�<�8 ��5�� &9�% ��=$84�� E=)�"��� ��F ')�4�
 ��($���-

�� �)'.,/)*0, 1,%,2& )4 ,::#)0'&?,@&&
HC0:$#&?$/.,(;/)=HB8/0@&&
:) ?$.)%8 /,&?$/;6&< 0*,%#,.)*

.# �% ( ������ xj = jh, j = 0, ..., N ; h = 1/N ; 0 ≤ xj ≤ 1
6�4��9 6������8

fj = g(xj) + εj , E@F

=4� g(x) D ����8 �6(� ���8 E6�4����8F KC� '�)������$%��8K"#��<�81
� εj D  $#��!�9� '�=)�7�� �� KC� '�)������ ')���� |ε| ≤ ε.

.� (9&)����! E�6(� ���!F  � ���� &�6� �9� "#��<�! φl(x)
'� �)��� "#��<�:

Y (x) =
M∑
l=0

zlφl(x), E*F

zl '�4&�)��� 8 ������6�<��! "#��<����$�

Q =
N∑

j=0

(Y (xj) − fj)2, E,F

�- �- �6 # $�(�! ∂Q/∂zl = 0, (k = 0, ...,M), ')�(�48;�� �  � ����

@G



$���!�9� �$=�&)���� ��� #)�(����!

M∑
l=0

aklzl = bk, E>F

akl =
N∑

j=0

φk(xj)φl(xj), bk =
N∑

j=0

fjφk(xj) EGF

  �����)����! '�$�5���$%�� �')�4�$����! ���)�<�! A.

3� 	.$#,@&)//9$ ?$.)%9

�$8 )�7���8  � ���9 E>F 64� % ')�4$�=��� 8 � '9���% �)�
���)�<����9� ����4�- O��8 C�� ���)�<�� ���:� �4�����(#: '�
'�)84�#  ��)� �%  ��4��� ��1 ( ��54�� ����)�����  $#��� ��
"������ ��8 C""����(�� �% �� �4�����(�-

��$�� ��5� z(0)
k D 6�4���9! ������ (����) ����$%��=� ')��

&$�5���81 ��')���) z
(0)
k = 0; i = 0, ..., iT ; iT B 6�4����� E4� ���

������F �� $� ���)�<�!-

3��� �:.&?,(;/9= &.$#,@&)//9= :#)@$''  
0)4&"
') '0,(�#/9? :,#,?$.#)?

��  ���)�� ���)�<�: (�4�

z
(i+1)
k = z

(i)
k − α(

M∑
l=0

aklz
(i)
l − bk), (k = 0, ...,M); E3F

α = 2/(λmin + λmax) ≈ 2σ/‖A‖, σ ≈ 1. E?F

�4� % λmin, λmax B ������%7�� � ���&�$%7��  �& �(���9� �� $�
���)�<9  � ���91 ‖A‖ D $:&�8 ��)�� ���)�<9 A.

3�3� �,&'0)#$=6&= 7#,%&$/./9= ':8'0

@3



� (9)�5���� E3F α (�6%��� ( (�4�

α =

M∑
k=0

(R(i)
k )2

M∑
k=0

(
M∑
l=0

aklR
(i)
l )R(i)

k

, R
(i)
k =

M∑
l=0

aklz
(i)
l − bk. E2F

H�� ���)�<�81 ( ��$���� �� ')�494#;�!1 �� �)�&#�� 6����8
 �& �(���9� �� �$ ���)�<9 A-

3��� 	.$#,@&� �$=%$(�

H�� ���)�<�8 8($8�� 8  (���&)�6��! ��4�"���<��! ���)�<��
E3F-

z
(i+1)
k = z

(i)
k − α(

M∑
l=0

aklz
(i+ν)
l − bk), k = 0, ...,M ; EIF

α = σ/akl, σ = 1, ν =
{

1, � $� l < k,
0, � $� l ≥ k.

E@+F

.)� 1 < σ ≤ 2 C��� ')�<�  ��69(��� 8 ���)�<��! (�)���!
)�$�� �<��-

�� �$0).)#9$ *,#&,/.9 4,1&'/9< B8/0@&= φl(x)

@- �# ������#&��� ��� "#��<��

φl(x) =

⎧⎨
⎩

2
3 − t2 + 1

2 |t|3, � $� |t| ≤ 1,
1
6(2 − |t|)3, � $� 1 ≤ |t| ≤ 2,

0 , � $� |t| ≥ 2.

�4� % t = (x − xl)/hl, hl = 1/M, xl = lhl- � C��� (�)����� ')�
 #���)�(���� )84�( � ')� '�)��� $���� ��4�� �(  $�4#�� (68�%
k, l = −1, ...,M + 1.

*- �# �����$���!�9� "#��<��

φl(x) =
{

1 − |t|, � $� |t| ≤ 1,
0 , � $� |t| ≥ 1.

@?



�4� % t = (x− xl)/hl, hl = 1/M, xl = lhl-
,- .�$������$%��8 �'')�� ���<�8

φl(x) =
{

1, � $� l = 0, 4�5� ')� x = 0,
xl, � $� l > 0.

H��� (�)���� ')� M > 4 ')�(�4�� � ����% ��4$����  ��48;�� 8
���)�<�8�-
>- .�$����9 L�&97�(�

φl(x) =

⎧⎨
⎩

1, � $� l = 0,
t, � $� l = 1,
2tφl−1(x) − φl−2(x), � $� l > 1.

�4� % t = 2x− 1.

>� �$0)?$/%,@&& :) :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

.� $� (9&�)�  � ���9 "#��<�! φl(x) � KC� '�)������$%��!K
�'')�� ���)#���! "#��<�� g(x)  $�4#�� ')�4�$��%/

@-��4��% M = 2 B @+1 N = 10 B G+1 εP+ B +1++G -
*- .�$#���% ���)�<# A = [akl]1 (����) bk � ��)�# ‖A‖. �94��%

�� '����% E��&$�<#F- ������)�8 ���)�<9 8($8�� 8 �� ����9�
'�4�(�)54����� ')�(�$%�� �� )� ����(-

,- ��4��% ���)�<����9� '�)����)9 σ ≈ 1, iT P@+ B G+1 α (
 ���(�� �(��  (9&)����! ���)�<��!- ��4��% ����$%��� ')�&$��
5���� z(0)-

>- .)�4�$��% ����)�$%��� E6�4�����F �� $� ���)�<�! � (9�

4��% �� '����% ��&$�<# i, z(i)
k i = 0, ...iT . �)��� ��=�1 �� ��54�!

���)�<�� '�$#���%

Y (i) =
M∑
l=0

z
(i)
l φl(xj), S(i) =

√√√√ 1
N + 1

N∑
j=0

(Y (i)(xj) − fj)2. E@@F

�94��% S(i) (�� ��  z(i)
k .

@2



G- �$8 ���)�<�! E3F � EIF1 ���$�6�)#8 ��&$�<#1 '�4�&)��% σ (
��)� ��� �� �4���<91 ')� ����)��  ��4��� �% ���$#�7�8- H� �
'�)������$%�� ��!�� σ, ')� ����)9� ���)�<����9! ')�<�  )� �
��4�� 8-

3- �� �����% � (94��% =)�"��� fj � E  �  ��)����� 6������!
�� ')�494#;�! ���)�<��F Y (i). �� C��� 5� =)�"��� (94��% ( �
6�4���9� '�)����)9-

�&4(&)7#,B&2$'0&= ':&')0

@- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
*- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1

�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-
,- ����) ��! 
- 
-1 �#$�� 
- �- L� $���9� ����49/ ���&-

'� �&�� 4$8 (#6�(- �-/ ��#��1 @I2I-

@I



+(,*, >� ��F��	� �����	 ��F	
�

 �����������+�
�	II����-	�
���+�
�������	


.)�  ���� 6�4��� ��7� '�$#����9� �� $���9� 6������8 )��
7���8 �6�6� '�=)�7�� �� ����4� � )� ����  ��;�:� 8 �� ��54��
7�=�  (9&)����! ����$%�9�� 4���9�� ����=)�$%��! �)�(�! ��
&$�6�#: K � �4�::K- � $� (��) ����=)�$%�9� �)�(9� ( �&$� ��
)�7���8 K)� ��48;�! 8 �� '�=)�7�� �% )�7���8 �� �������� ���
��)(�$� ��5�� &9�% 6������$%��!1 � �&���� 4$8 ����4�( ��(9 ��
��=� '�)84�� E��')���) H!$�)�F-

�4����1 '� $�4�(���$%�� #���%7�8 7�= ����=)�)�(���81 ��5�
�� #&�4��% 8 (  ��4��� �� 4�5� =)#&9� ����4�(-

�����8 )�&��� �� ')���)� $���!��=� #)�(����8 4��� (�6��5�
�� �% ��=$84�� ')�4���� �)�)�(��% ')���#;� �(� ����4�( �#��
=�D�#��� (9 ���� '�)84��(1 � ���5�  ��4��� �% $:&�=� �6 C���
����4�( �� �������� ����)(�$�1 ')����  ���)����� �� ')�4'��
 ����! ����� �%:-

�)��� ��=�1 ����)� ��  �'� ��(��% ����49 �#�=�D�#��� �

4�� � �4��=� � ��=� 5� '�)84��-

�� �)'.,/)*0, 1,%,2&� �$'.)*)$ #$6$/&$

��  ���)�� 6�4��# ��7�

y′ = f(x, y) ≡ g′(x) + p(y − g(x)), 0 ≤ x ≤ 1, p > 0, E@F

g(x) D 6�4����8 "#��<�8 ��'� sin(πx), cos(π
2x), exp(−x2) � 4)-

.# �% ')� x = 0 (9'�$�8�� 8 # $�(��

y(0) = y0 = g(0). E*F

��=4� �6 �&;�=� )�7���8 #)�(����8 E@F

y(x) = C exp(px) + g(x), C = const

*+



(94�$8�� 8 �� ���� y = g(x)1 ����)�� &#4�� 64� % ��� �� ��(��-

3� �,1(&2/9$ #,'2$./9$ B)#?8(9

.�$#��� �� $����� )�7���� 6�4��� ��7� E@F1 E*F ( #6$��
xj = jh, h = 1/N, j = 0, ..., N 1 =4� N D 6�4���9! '�)����)-

�4� % 4$8  ')�(�� ')�(�48� 8 ��)�7� �6(� ��9� "�)�#$9
�#�=�D�#��� E� ( �� ��� �� H!$�)�F  )�6$����! '�=)�7�� �%:
�� ( �� ����)(�$� R = Chq- .�=)�7�� �% �� ��54�� 7�=� &#4��
C1h

q+1 (C,C1 D const)-

QF yj+1 = yj + hf(xj , yj) E"�)�#$� H!$�)�F, R = Ch;

RF k1 = hf(xj , yj), k2 = hf(xj + h/2, yj + k1/2),
yj+1 = yj + k2, R = Ch2;

AF k1 = hf(xj , yj), k2 = hf(xj + h, yj + k1),
yj+1 = yj + (k1 + k2)/2, R = Ch2;

SF k1 = hf(xj , yj), k2 = hf(xj + h/2, yj + k1/2),
k3 = hf(xj + h, yj − k1 + 2k2),
yj+1 = yj + (k1 + 4k2 + k3)/6, R = Ch3;

TF k1 = hf(xj , yj), k2 = hf(xj + h/3, yj + k1/3),
k3 = hf(xj + 2

3h, yj + 2
3k2),

yj+1 = yj + (k1 + 3k3)/4, R = Ch3;

UF k1 = hf(xj , yj), k2 = hf(xj + h/2, yj + k1/2),
k3 = hf(xj + h/2, yj + k2/2),
k4 = hf(xj + h, yj + k3),
yj+1 = yj + (k1 + 2k2 + 2k3 + k4)/6, R = Ch4;

VF k1 = hf(xj , yj), k2 = hf(xj + h/4, yj + k1/4),
k3 = hf(xj + h/2, yj + k2/2),
k4 = hf(xj + h, yj + k1 − 2k2 + 2k3),
yj+1 = yj + (k1 + 4k3 + k4)/6, R = Ch4.

*@



�$8  )�(����8 4�&�(�� � C��� "�)�#$�� 4(� "�)�#$9 
4���
 � E8(�#: � ��8(�#:F/

WF yj+1 = yj + h
24(55y′j − 59y′j−1 + 37y′j−2 − 9y′j−3), R = Ch4;

XF yj+1 = yj + h
24(9y′j+1 + 19y′j − 5y′j−1 + y′j−2), R = Ch4.

�4� % y′j ����48� 8 '� "�)�#$� E@F- ���&��4��9� K ��)��(9�K6������8
yj ��5�� '�$#���% '� "�)�#$�� �#�=�D�#��� KfK
�$� KgK- � ��8(��! "�)�#$� 
4�� � KiK6������� yj+1 ��5�� &9�%
$�&�  ����$� ')�4(�)���$%�� (9�� $��� '� 8(��! "�)�#$� Kh �
6���� #������� '� "�)�#$� Ki $�&�1 � '�$%6#8 $���!�� �% 6�4���1
��'� )�4 �(���� �6 KiK��� $���!��=� #)�(����8-

�� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

�$8 (9&)����=� )�7���8 g(x) � 6�4����=� ��&�)� ����4�( )�6�
$����=� '�)84�� E �)������9)��1 ��')���) ”a ”c ”f” � ”i”F (9'�$�
���%  $�4#:;��/

@- ��4��% N = 10, p ≈ 6 � '�$#���% �� $����� )�7���� 6��
4��� E@F1 E*F '� C��� "�)�#$��1 � ���5� �� ��(�� )�7���� g(x) (
#6$��  ���� xj , (j = 0, ..., N)- ��7���� (94��% ( (�4� =)�"��� �
��&$�<9- �94��% ���5� (�� ��  )�7���8�� ��)�# '�=)�7�� ��
NormC = maxj |yj − g(xj)|.

*- �&�4��% 81 ��� &�$�� ����9! E'� '�)84�#F ����4 4��� $#��
7�� ')�&$�5���� � �� ��(��# )�7���: E)� - *1 =4� Y1, Y2, Y3 �
G D )�7���8 ��'� ”a ”b ”d � �� ��(��  ���(�� �(����F- .)�(��
)��% C��� (9(�4 ')� )�6$���9� p-

,- .� $�4�(���$%�� #���%7�8 7�= h (4(�� (N = 20, 40, 80, ...)1
#&�4��% 8 (  ��4��� �� ( �� C��� �� $���9� )�7���! � ������#
E�� ��(��#F1 ')���� "������ ��8 ��� ���$%��8 �& �$:���8 '��
=)�7�� �% $:&�=� �6 C��� ����4�( 4�$5�� ����% ')�4'� ���9!
���)��! '�)84��- .)� C��� @�! '�)84�� ����4� H!$�)� E"�)�#$�
K�KF ����� ')�8(�� 8 ��$%�� ')� &�$%7�� N E≈ @3+1 ,*+1 ---F-

**



�� - *

>- �)�(���% ����� �% )� ����( �  '�<�"��# �$=�)����( �����
4�( �#�=�D�#��� � 
4�� �-

�&4(&)7#,B&2$'0&= ':&')0

@- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1
�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-

*- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
,- ����) ��! 
- 
-1 �#$�� 
- �- L� $���9� ����49/ ���&-

'� �&�� 4$8 (#6�(- �-/ ��#��1 @I2I-
>- 
���)�( �- �- L� $���9� ����49 )�7���8 �&9���(���9�

4�""�)��<��$%�9� #)�(����!- ��(� �&�) �/ ���1 @II>-

*,



+(,*, �� ������ ��F	
�

 ���G �����������G
�	II����-	�
���G
�������	�� ��	J��	�
����	-�

��4��� ��7� 4$8  � ���9 '� ����4# �#�=�D�#��� )�7��� 8
'� "�)�#$��1 ���$�=���9� '� (�4# "�)�#$�� 4$8  $#��8 )�7��
��8 �4��=� #)�(����8

dw/dt = f(t, w), w(t0) = W0.

�4���� 64� % �9 ����� 4�$�  (����)��� w = (u, v), W0 = (U0, V0)
� (����) � "#��<��! f = (f1, f2). �$8 ��54�! "#��<�� u � v ���&�
��4��� (9�� $��%  (�� '� $�4�(���$%�� �� ')�)�;���! k1, k2, ...
� q1, q2, ....

� 4����! )�&��� �� ')���)� 6�4��� � 4(�5���� �� ��<9 (
'� ��8���� ��=������ '�$� ')�4$�=��� 8 '���6��% E(  )�(�����F
)�&��# ����4�( �#�=�D�#��� )�6$����=� '�)84��1 � ���5�  ���
4��� �% �� $���9� )�7���! � ������#  ')�4'� ���9�� ���)��!
'�)84���� '�=)�7�� ��!-

�� �)'.,/)*0, 1,%,2&� �$'.)*)$ #$6$/&$

.# �% B D ��=������ '�$�1 m, e, c D ��  �1 6�)84 �� ��<9 �
 ��)� �%  (���  ���(�� �(����1 R = Be/(mc).

�� ���� 4�""�)��<��$%�9� #)�(����! 4(�5���8 �� ��<9 ����
�� (�4

du/dt = f1(v) = Rv,
dv/dt = f2(u) = −Ru.

}
E@F

.)� t = 0 u = U0, v = V0, 0 ≤ t ≤ T. E*F

�4� % u, v D  ��)� �� �� ��<91 t D ()��8- .�$�5�� 4$8 #4�&�
 �(� )� ����( � �<���� R = 2π, T = 1. �)��� ��=�1 4$8 ���)4����
�� ��<9 x, y �����

dx/dt = u,
dy/dt = v.

}
E,F

*>



.)� t = 0 x = x0, y = y0. E>F

.� "�)�#$�� )�6$����=� '�)84�� E �- ��5�F )�7��� 8 6�4���
E@F1 E*F ( #6$��

tj = jτ, τ = 1/N, N = 10, 20, 40, 80, ...

� )�6#$%���� ����48� 8 6������8 uj , vj 4$8 j = 1, ...N, � u0, v0
#5� &9$� 6�4��9 '� "�)�#$�� E*F-

�6  � ��� E@F � E,F  $�4#��

d

dt
(x+ v/R) = 0, �- �- x+ v/R = x0 + V0/R = const = xc; EGF

d

dt
(y − u/R) = 0, �- �- y − u/R = y0 − U0/R = const = yc. E3F

�$�4�(���$%��1  #����� ����$%�9� 6������! E*F � E>F

xj = xc − vj/R, yj = yc + uj/R. E?F

�� ��(�� )�7���� E64� %1 ������F ��'� )�4 �(���� '�$#���� 8
�6  � ���9 E@F � #)�(����! EGF � E3F

uT (tj) = U0 cosRtj + V0 sinRtj ; E2F

vT (tj) = V0 cosRtj − U0 sinRtj ; EIF

xT (tj) = xc − vT (tj)/R, yT (tj) = yc + uT (tj)/R, E@+F

')���� xT � yT �&)�6#:� ��)#5�� �%  <���)�� xc, yc � )�4�# ��
Rc :

(xT (tj) − xc)2 + (yT (tj) − yc)2 = R2
c , Rc =

1
R

√
U2

0 + V 2
0 . E@@F

3� I)#?8(9 �8/7$K�8.., #,1(&2/)7) :)#�%0,

*G



.)�(�4�� 4$8  ')�(�� )84 "�)�#$ )�6$����=� '�)84�� ����
�� ��  '�=)�7�� �%: �� ��)�6�� 0 ≤ t ≤ 1. .)�)�;���8 k1, q1
'� (�4# E�� �� '� 6������8� MF �4�����(9 4$8 ( �� (�)�����(-

k1 = τf1(vj), q1 = τf2(uj).

QF uj+1 = uj + k1, vj+1 = vj + q1 E"�)�#$� H!$�)�F O(h);

RF k2 = τf1(vj + q1/2), q2 = τf2(uj + k1/2),
uj+1 = uj + k2, vj+1 = vj + q2, O(h2);

AF k2 = τf1(vj + q1), q2 = τf2(uj + k1),
uj+1 = uj + (k1 + k2)/2, vj+1 = vj + (q1 + q2)/2, O(h2);

SF k2 = τf1(vj + q1/2), q2 = τf2(uj + k1/2),
k3 = τf1(vj − q1 + 2q2), q3 = τf2(uj − k1 + 2k2),
uj+1 = uj + (k1 + 4k2 + k3)/6,
vj+1 = vj + (q1 + 4q2 + q3)/6, O(h3);

TF k2 = τf1(vj + q1/3), q2 = τf2(uj + k1/3),
k3 = τf1(vj + 2q2/3), q3 = τf2(uj + 2k2/3),
uj+1 = uj + (k1 + 3k3)/4, vj+1 = vj + (q1 + 3q3)/4, O(h3);

UF k2 = τf1(vj + q1/2), q2 = τf2(uj + k1/2),
k3 = τf1(vj + q2/2), q3 = τf2(uj + k2/2),
k4 = τf1(vj + q3), q4 = τf2(uj + k3),
uj+1 = uj + (k1 + 2k2 + 2k3 + k4)/6,
vj+1 = vj + (q1 + 2q2 + 2q3 + q4)/6, O(h4);

VF k2 = τf1(vj + q1/4), q2 = τf2(uj + k1/4),
k3 = τf1(vj + q2/2), q3 = τf2(uj + k2/2),
k4 = τf1(vj + q1 − 2q2 + 2q3),
q4 = τf2(uj + k1 − 2k2 + 2k3),
uj+1 = uj + (k1 + 4k3 + k4)/6,
vj+1 = vj + (q1 + 4q3 + q4)/6, O(h4).

*3



�� �)7#$6/)'.& #,'2$.)*

�$8 ')��6(�$%��=� (�)����� (97�'�)��� $���9� "�)�#$ '��
=)�7�� �� )� ����( E( ')� �)�� �(� Y F �� ��)�6�� 0 ≤ t ≤ 1
���:� (�4

NormCu = max
j

|uj − uT (tj)| = C1h
s; E@*F

NormCv = max
j

|vj − vT (tj)| = C2h
s, E@,F

=4� C1, C2 ')��6(�$%�9� ��� ����91 s = 1, 2, 3 �$� >-
�4���� '� ��$%�# ����� (xT (tj), yT (tj)) �'� 9(�:� ��)#5�� �%1

� ����� (xj , yj) K '�)�$% �� #4�&���  $�4��% �� =)�"���� � �<��
��(��% '�=)�7�� �% K)�  ��8��8Kρ/

ρj =
√

(xj − xT (tj))2 + (yj − yT (tj))2 =
=

√
((vj − vT (tj))2 + (uj − uT (tj))2)/R2;

E@>F

NormCρ = max
j

|ρj | =
hs

R

√
C2

1 + C2
2 , E@GF

�- �- ��)�9 E@*F1 E@,F � E@GF ���:� �4�����(9! '�)84��-

>� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

� 4����! )�&��� )������4#�� 8  $�4#:;��/
D �$8 4(#���)�� 6�4���9� ����4�( E”a” B ”g”F � 4$8 )�6$���

�9� j = 10, 20, 40, 80, ... '� �����% 6������8

uj , vj , xj , yj , uT (tj), vT (tj), xT (tj), yT (tj), xc, yc, Rc,

� ���5� '�=)�7�� �% NormCρ.
D .� �)���% ��)#5�� �% '� 6������8� (xT (tj), yT (tj))1 � ����

5� K '�)�$�K'� (xj , yj). �&�4��% 81 ��� '�=)�7�� �% E@GF  �)��
��� 8 � �#$: E')� τ → 0) (  ���(�� �(��  ')�4'� ���9� ���)��!
'�)84���-

*?



D .)�4# ���)��% E4$8 ��$�4�� ')�=)���9F (�6��5�� �% (9�
4��� ( ��� ��(�� )�5��� ��&$�< 6������!  ��)� ��! � ���)4����
�� ��<9-

�&4(&)7#,B&2$'0&= ':&')0

@- .����) �- �9�� $���$%�9� ����49 ( "�6���- �-/ ��)1
@I?G-

*- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
,- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1

�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-
>- ����) ��! 
- 
-1 �#$�� 
- �- L� $���9� ����49/ ���&-

'� �&�� 4$8 (#6�(- �-/ ��#��1 @I2I-

*2



+(,*, �� ������ ��F	 �

 HJ����	G
�	����H� 
���� 	 ��
����
I����
� L�
���

��� �6(� ���1 ')� �� $����� )�7���� K5� ����  � ���K4�"�
"�)��<��$%�9� #)�(����! '� ����4# �#�=�D�#��� 8(�9� "�)�#�
$9 �)�&#:� ��)�6��)��=� #���%7���8 7�=� '� ()�����- �� C��=�
��4� �����  (�&�4�9 ��8(�9� "�)�#$9- �4���� ( �&;��  $#���
')� C��� (�6������ ')�&$��� �� )�6)�7���8 E'� )�4 �(�� ���)��
<�!F �� ��54�� 7�=�-

� 4����! )�&��� �� ')���)�  � ���9 4(#� $���!�9� #)�(���
��! ��5�� �&�!�� % &�6 ���)�<�! � ')� $�4��% )�&��# ��8(�9�
"�)�#$ H!$�)� � �� ')���#;� �(� '�)�4 8(�9��-

�� �)'.,/)*0, 1,%,2&� �$'.)*)$ #$6$/&$

� �&$� �� 0 = a ≤ x ≤ b = 1 )�  ���)��  � ���#

y′1 = f1(x, y1, y2) ≡ r11y1 + r12y2 + v1(x),
y′2 = f2(x, y1, y2) ≡ r21y1 + r22y2 + v2(x);

}
E@F

y1(0) = y1,a, y2(0) = y2,a. E*F

�4� % r11, ..., r22 D 6�4���9� ��C""�<����9Z v1(x), v2(x) D 6�4���
�9� "#��<��Z y1,a, y2,a D 6�4���9� ����$%�9� 4���9� ��7� E �-
��5�F-

��6%��� 4(� "#��<�� E�� ��(9� )�7���8F g1(x), g2(x) � 4(�
'�)����)� p1, p21 ��)�<���$%�9� � �����1 ��� ����7���� |p2/p1|
(�$���- ��')���)1 p1 = −1, p2 = −500- �)��� ��=�1 (�6%���
���9)� ')��6(�$%�9� '�)����)� c11, c12, c21, c22 �����1 ���

det = c11c22 − c12c21 �= 0.

.# �%
r11 = (c11c22p1 − c12c21p2)/det,

r12 = c11c12(p2 − p1)/det,

*I



r21 = −c21c22(p2 − p1)/det,

r22 = (c11c22p2 − c21c12p1)/det.

.# �% ���5�

v1(x) = g′1(x) − r11g1(x) − r12g2(x),

v2(x) = g′2(x) − r21g1(x) − r22g2(x).

��=4� �&;�� )�7�����  � ���9 E@F &#4��[
y1(x)
y2(x)

]
= C1

[
c11

c21

]
ep1x + C2

[
c12

c22

]
ep2x +

[
g1(x)
g2(x)

]
, E,F

=4� C1, C2 D ')��6(�$%�9� '� ��8��9�-
� $� (9&)��% ����$%�9� 4���9� ��7� E*F ( (�4�

y1(0) = y1,a = g1(0), y2(0) = y2,a = g2(0),

��=4� C1 = C2 = 01 � '�$#���� �)�&#���� �� ��(�� )�7����

y1(x) = g1(x), y2(x) = g2(x). E>F

�������	�- � )�7���� E,F 4(� ')��6(�$%�9� '�)����)� $�7�
���1 �� ��5�� 6�"�� �)�(��%1 ��')���) c11 = c22 = 1- ��=4�
c12, c21 '�4&�)�:� 8 �6 # $�(�8 det = 1 − c12c21 �= 0.

3� I)#?8(9 L=($#,

� �&$� �� 0 ≤ x ≤ 1 ((�4�� )�(����)�#:  ���# xj = jh,
h = 1/N, j = 0, ..., N 1 =4� N D 6�4���9! '�)����)-

��  ���)�� 4(� (�4� "�)�#$ (��)�=� E�� 7�=�F '�)84��-
����� "�)�#$� H!$�)�/

y1,j+1 = y1,j + hf1(xj , y1,j , y2,j),
y2,j+1 = y2,j + hf2(xj , y1,j , y2,j).

}
EGF

,+



������� "�)�#$� H!$�)�/

y1,j+1 = y1,j + h(r11y1,j+1 + r12y2,j+1 + v1(xj+1)),
y2,j+1 = y2,j + h(r21y1,j+1 + r22y2,j+1 + v2(xj+1)).

}
E3F

�  �$# $���!�� �� (9)�5���! ( E3F ���� ���$%�� y1,j+1, y2,j+1

��5�� E&�6 ���)�<�!F ��!��

y1,j+1 = ((1 − hr22)w1 + hr12w2)/∆,
y2,j+1 = (hr21w1 + (1 − hr11)w2)/∆,

}
E?F

=4� ∆ = (1 − hr11)(1 − hr22) − h2r12r21, w1 = y1,j + hv1(xj+1),
w2 = y2,j + hv2(xj+1).

�� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

@- �9&)��% �� ��(�� )�7����1 ��')���)/

g1(x) = cos(
π

2
x), g2(x) = sin(

π

2
x),

����$%�9� 4���9� 6�4��% '� "�)�#$�� E>F-

�� - ,

*- ��4��% p1, p21 �&� '���(�:;��  � ���� [5� ��� �%[1
��')���)1 p1 = −1, p2 = −500.

,@



,- �&�4��% 81 ��� ��$%�� ')� N ≥ |p2|/2  ��� '� 8(��!  ����
# ��!��(1 ��� � ')�4'� 9(��� ���)�81 � ')� ���%7�� N �� �#'���
)�6&�$��� E )� - ,F-

>- �&�4��% 8 ���5�1 ��� ��8(��8  ���� # ��!��(�  ������ ')�
$:&9� N -

G- ��6#$%���9 (94��% ( ��&$�<�� � �� =)�"���� (  �'� ��($��
���  �� ��(9� )�7�����- �)��� ��=�1 (94��% (�� ��  )� ������
( � 6�4�(���9� '�)����)9-

3- ���� '� 8(��! � '� ��8(��!  ����� �)=���6�(��% ��� ��6��
(� ��9� (�)����9-

�&4(&)7#,B&2$'0&= ':&')0

@- ����) ��! 
- 
-1 �#$�� 
- �- L� $���9� ����49/ ���&-
'� �&�� 4$8 (#6�(- �-/ ��#��1 @I2I-

*- 
���)�( �- �- L� $���9� ����49 )�7���8 �&9���(���9�
4�""�)��<��$%�9� #)�(����!- ��(� �&�) � / ���1 @II>-

,*



+(,*, �� ������
 ������
�

 �����������+�
�	II����-	�
���+�
�������	
�
���������� ������

��)��$%��8 6����� ')��6(�4�9� ( $���!��� 4�""�)��<��$%�
��� #)�(����� (��)�=� '�)84��  (�4�� 4�""�)��<��$%�#: 6�4��
�# � )�6�� ���!  � (��)9� '�)84��� �'')�� ���<��-

� =)�����9� # $�(�8�  ��7����=� ��'�1 ')�4$�=���9� 64� %1
�'')�� ���<�8 ')��6(�4�9� 4�$5�� ����% '�)84�� ���5� �� ���
5� (��)�=�1 ����� '� �)�4��� ����� �% )� ����(-

H""����(�9� ����4�� )�7���8 '�$#�����! )�6�� ���! 6��
4��� 8($8�� 8 ')�=����- �4���� ( )��$�6�<��  ��7���=� ��'�
=)�����9� # $�(�! E � (��)9� '�)84���F (�6����:� ������� ���
 $�5�� ��1 ����)9� � '�$����$: ')�4 ����  ��� ��8��$%�� ')��
�4�$��% �� �$=�)������ ��� � ')�=)������ #)�(�8�-

.)�4$�=��� 8 #&�4��% 8 ( ')���#;� �(� # $�(�!1 '�$#����9�
 � (��)9� '�)84��� (  )�(����$%���  ����1 � ���5� ')� $�4��%
6�  ��4��� �%:  � (��)9� E�$� '�)(9�F '�)84���-

�� �)'.,/)*0, 1,%,2&

.# �% ( �&$� �� 0 = a ≤ x ≤ b = 1 4��� #)�(�����

u′′ − p(x)u = f(x) E@F

 =)�����9�� # $�(�8��  ��7���=� ��'�

la(u, u′) = 0 (')� x = a = 0); E*F

lb(u, u′) = 0 (')� x = b = 1). E,F

� $�(�8 E*F1 E,F D $���!�9� (9)�5���81  (869(�:;�� u, u′1
��')���)/

la(u, u′) ≡ u′ − 2(u− Ua) = 0, lb(u, u′) ≡ u′ + 4(u− Ub) = 0,

,,



=4� Ua, Ub D 6�4���9� '�)����)9-
� #)�(����� E@F p(x) � f(x) D 6�4���9� "#��<��1 ��')���)/

p(x) = x2, �$� p(x) = e−x1 �$� 4)#=��-

f(x) = V ′′(x) − p(x)V (x), E>F

=4� V (x) D �6(� ���� E6�4�����F �� ��(�� )�7���� E �- '- > F-

3� �)/$2/)�#,1/)'./)$ 8#,*/$/&$� �#)7)/0,

�(�4�� ( �&$� �� 0 ≤ x ≤ 1 )�(����)�#:  ���#  #6$���
xj = jh, h = 1/N, j = 0, 1, ..., N 1 =4� N D 6�4���9! '�)����)-
� �4��� �6 (�)�����( EK=  �- '- ,F #4�&��� &#4��  ����  �  ���
;���9�� #6$��� xj = (j − 1/2)h, j = 0, ..., N11 ')� C��� ���<��
�4������=� ����)(�$� &#4#�  ���(�� �(�(��% #6$9 x1/2, xN+1/2-
�4� % � 4�$�� N1 = N + 1 ( (�)����� K=K� N1 = N ( � ��$%�9�
(�)������-


'')�� ���)#�� (��)#: ')��6(�4�#:  '�)84��� O(h2) :

u′′(xj) ≈ (uj−1 − 2uj + uj+1)/h2, EGF

=4� ((�4��9  �����9� "#��<�� uj , uj±11 ')����

u(xj) ≈ uj , u(xj ± h) ≈ uj±1.

��=4� #)�(����: E@F &#4��  ���(�� �(�(��% )�6�� ���� #)�(�
����� (�4�

Auj−1 +Bjuj + Cuj+1 = Gj . E3F

�4� % A,Bj , C,Gj C$������)�� ����48� 8 '� $� '�4 ����(�� (9�
)�5���8 EGF ( #)�(����� E@F-

��6�� ���� #)�(����� E3F C""����(�� )�7��� 8  '���;%:
����4� ')�=����/

uj = Pjuj+1 +Qj , (j = 0, ..., N1 − 1), E?F

=4� Pj , Qj (9)�5�:� 8 ��)�6 Pj−1, Qj−1 '� "�)�#$��

Pj = −C/(APj−1 +Bj), Qj = (Gj −AQj−1)/(APj−1 +Bj), E2F

,>



L��&9 (� '�$%6�(��% 8 "�)�#$�! E2F1 �#5�� '�$#���% P0, Q01
4$8 ��=� ')�($����� 8 =)������� # $�(�� E*F- �$8  ���� uj '�
"�)�#$� E?F ���&��4���1 �)���  � ������9� Pj , Qj 1 ����% 6���
����� uN1 1 ����)��1 � $� �� 6�4��� ��'� )�4 �(����1 ����4�� 8  
'���;%: =)������=� # $�(�8 E,F-

�� �$,(&1,@&� 7#,/&2/9< 8'()*&=

��  ���)�� �� ��$%�� (�)�����( �'')�� ���<�� '�)(�! ')��
�6(�4��! ( =)�����9� # $�(�8� ')� )��$�6�<�� '� $�4���-
��
 x = 0/
�F u′(0) ≈ (u1−u0)/h D =)#&�� ')�&$�5���� '�)(�=� '�)84��1

 ��5�:;�� ����� �% )� ����( Z
&F u′(0) ≈ (u1 −u−1)/(2h) D �'')�� ���<�8 (��)�=� '�)84��1

� '�$%6#:;�8 6������8 u−1 6� ')�4�$��� �4������=� ����)(�$�Z
(F u′(0) ≈ (−3u0 + 4u1 − u2)/(2h) D �'')�� ���<�8 (��)�=�

'�)84��1 �� �)�&#:;�8 (9��4� 6� ')�4�$9 �4������=� ����)(�$�Z
=F u′(0) ≈ (u1 − u0)/h D �'')�� ���<�8 (��)�=� '�)84�� ��

 4(��#��!  ���� xj = (j − 1/2)h-
� '�$%6�(���� (9)�5���! K� K& K(K�$� K=K( =)�����9� # $��

(�8� E*F 4��� )�6�� ���� # $�(�� l(h)
a (.) = 01  (869(�:;�� 6�����

��8 uj ( ��)� ��� �� $�(�! =)���<91 ��')���)/

l(h)
a (u−1, u0, u1) = (u1 − u−1)/(2h) − 2(u0 − Ua) = 0.

��7� <�$% 64� % D � �$:���%1 ')� ���&��4��� �� ')�($��
��8 #)�(����� E3F ')� j = 0 E�$� j = 1F1 K$�7���K6������� u−1

E�$� u2F � '�$#���%  �����7���� (�4� u0 = αu1 + β1 '� $� ��=�
 )�(�����  "�)�#$�! E?F E')� j = 0F 4��� ���&��4��9� ����$%�
�9� 6������8 P0, Q0.

��=4� 4$8 )�  ���)���9� (�)�����( �����/

�F l
(h)
a (u0, u1) = 0;

&F l
(h)
a (u−1, u0, u1) = 0,
Au−1 +B0u0 + Cu1 = G0;

}

,G



(F l
(h)
a (u0, u1, u2)) = 0,
Au0 +B1u1 + Cu2 = G1;

}

=F l
(h)
a (u0, u1) = 0.

��
 x = 1/
L��&9 '�$#���% uN1 1 ���&��4���� 4$8 )� ���� '� "�)�#$� E?F1

)�  ���)�� (�)����9 �'')�� ���<�� ')�(�=� =)������=� # $��
(�8- .)��6(�4��8 u′ ��5�� &9�% ')�&$�5���� ')�4 ��($���/

�F u′(1) ≈ (uN − uN−1)/h D ')�&$�5���� '�)(�=� '�)84��Z
&F u′(1) ≈ (uN+1−uN−1)/(2h) D ')�&$�5���� (��)�=� '�)84�

��1 (9(�48;�� 6� =)���<# �4������=� ����)(�$�Z
(F u′(1) ≈ (uN−2−4uN−1 +3uN )/(2h) D ')�&$�5���� (��)�=�

'�)84��Z
=F u′(1) ≈ (uN+1 − uN )/h D ')�&$�5���� (��)�=� '�)84�

�� ��  4(��#��!  ����- �������: x = 1  ���(�� �(#�� ��4�� 
j = N + 1/2 -

.�4 ��(�� C�� �'')�� ���<�� ( =)������� # $�(�� E,F1 �����

)�� ')���� (�4 )�6�� ���=� # $�(�8 l(h)
b (.) = 01  (869(�:;�=� 4(�

�$� �)� 6������8 uj ( ��)� ��� �� ')�(�! =)���<91 ��')���)/

l
(h)
b (uN−1, uN , uN+1) = (uN+1 − uN−1)/(2h) + 4(uN − Ub) = 0.

��&�(�� � C���# �4�� �$�1 � $� �#5��1 4(� ')�=�����9�  ����
��7���8 E?F � #)�(����� E3F1  ����81 ��� ( � Pj , Qj #5� ��!4��9
'� "�)�#$�� E2F- .�$#���  � ���9 #)�(����! 4$8 ����54���8
uN1 :

�F l
(h)
b (uN−1, uN ) = 0,
uN−1 = PN−1uN +QN−1;

}

&F
l
(h)
b (uN−1, uN , uN+1) = 0,
AuN−1 +BNuN + CuN+1 = GN ,
uN−1 = PN−1uN +QN−1;

⎫⎬
⎭

,3



(F
l
(h)
b (uN−2, uN−1, uN ) = 0,
uN−2 = PN−2uN−1 +QN−2,
uN−1 = PN−1uN +QN−1;

⎫⎬
⎭

E=F l
(h)
b (uN , uN+1) = 0,
uN = PNuN+1 +QN .

}

��7��% C��  � ���9 � '�$#���% P0, Q0 � uN1 � '�$����$:
')�4$�=��� 8  ��� ��8��$%��-

>� �$'.)*)$ #$6$/&$

��6%��� 4(� =$�4��� "#��<�� g1(x) � g2(x) E$#�7� ( �=� exp(x)
� exp(−x)F �  ��� �)#�)#�� �� ��(�� )�7���� ( (�4�

V (x) = d0(0.5 − x) sin2(2πx) + d1g1(x) + d2g2(x), EIF

=4� d0 6�4�4�� ��� '�)����)1 � d1, d2 ��!4�� �6 =)�����9� # $��
(�! E*F � E,F1 ����)9� 4�4#�  � ���# E)�7��%  ��� ��8��$%��F/

la(V, V ′) = 0, lb(V, V ′) = 0. E@+F

���(�4��1 '�)(��  $�=����� �6 "�)�#$9 EIF 4��� �#$�(�! (�$�4
(  � ���# E@+F � �� ($�8�� �� )� ��� d1, d21 �=� ')�4��6������� D
#(�$����% ( 4���� �)�<����9� <�$8� � �)�($���� �� ��(�=� )��
7���8-

���&��4��� ')� $�4��%1 ���&9  � ���� E@+F &9$� ��(9)�5�
4����! E')� (9&�)� exp(x), exp(−x) C�� ')������ �� ( �=4� ���FZ
( �)�!���  $#���  $�4#�� �6�����% (9&�) g1(x), g2(x)-

�� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

� 4����! )�&��� ���&��4��� ')�(� ��  )�(����$%�9� )� ���9
(�)�����( K�K� ����=��$�&� 4)#=�=� D K& K(K�$� K=K- .)� C���

,?



��4� #&�4��% 8 E )�(������ ‖.‖C 4$8 '�=)�7�� �� ')� '� $�4��
(���$%���  =#;����  ����F1 ��� (�)���� K�K4���  ��4��� �% '�)�
(�=� '�)84��1 � (�)����9 K& K( K=D (��)�=�-

�������4#�� 8 (9'�$���%  $�4#:;��/
@- ��4��% '�)����)9 ( 4��'�6����

d0P + B >1 NP @+ B 3>+1 Ua, UbP + B *-
*- .�$#���% � (94��% �� =)�"�� E� ( ��&$�<#F 6������8

uj , Vj 4$8 j = 0, ..., N - �$8 (�)����� K=K�� (94��# '�$#���% (uj +
uj+1)/2, (Vj+Vj+1)/2- �')����1 �� � ��5��  )�6#  �����% ( #6$��
xj+1/2-

,- .�$#���% � (94��% �� =)�"�� E� ( ��&$�<#F (�� ��  )��
6#$%������ '�=)�7�� �% )� ����( NormC = max

j
|uj−Vj |1 � ���5�

6�4���9� '�)����)9 6�4���-

�&4(&)7#,B&2$'0&= ':&')0

@- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1
�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-

*- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
,- ��4#��( �- �-1 �8&��%��! �- �- ��6�� ��9�  ���9 E((�4����

( ���)�:F- �-/ ��#��1 @I??-

,2



+(,*, M� ������
 ������
�

 �����������+�
�	II����-	�
���+�
�������	
�
������ �������K+�
���	��
	 ��	����F	G ���������

��  ���)�(���9� 64� % ����49 '�  #��  (��! #��(�) �$%�9 �
')����8:� 8 4$8 )�7���8 7�)���=� �)#=� 6�4��- �  $#��� �&9��
��(���9� 4�""�)��<��$%�9� #)�(����! ���)����� �� �&� '����
��  ��4��� �%- �4���� ')������ ��! # '�� 6�(� �� 64� % �� #4���
��=� (9&�)�  � ���9 &�6� �9� "#��<�!- �$8 �)��(9� # $�(�!
 ��7���=� ��'� C��� (9&�)  4�$��% ��')� ��-

� 4����! )�&��� ')�4$�=��� 8 � (���% �4�� �6 ����� ���)�(��
�$%�9� ')����(1 � ��(���9! �� )�7���� ��� ��69(����! K ��4�
��!K6�4���-

�� �)'.,/)*0, 1,%,2&

��  ���)�� ( �&$� �� 0 = a ≤ x ≤ b = 1 $���!�#: �)��(#:
6�4��#  # $�(�8��  ��7���=� ��'�/

L(u) ≡ u′′ − p(x)u = f(x); E@F

la(u, u′, Ua) = 0 ( ')� x = 0); E*F

lb(u, u′, Ub) = 0 ( ')� x = 1). E,F

�4� % la, lb $���!�9� (9)�5���8  6�4���9�� ��C""�<�������1
��')���)/

la(u, u′, Ua) ≡ u′(0) − 2(u(0) − Ua) = 0,

lb(u, u′, Ub) ≡ u′(1) + 4(u(1) − Ub) = 0,

=4� Ua, Ub D 6�4���9� '�)����)9Z p(x) D �6(� ���8 6�4����8
"#��<�8 E��')���) p(x) = x2, �$� p(x) = exp(−x), �$� 4)-FZ

,I



f(x) = L(U)1 =4� U(x) D �� ��(�� )�7���� E �- '- >F-

3� �$.)% #$6$/&�

.)�&$�5����� )�7���� 6�4��� E@FBE,F &#4�� � ���% ( (�4� )8�
4�

uM (x) = v(x) +
M∑
l=1

clϕl(x), E>F

=4� v(x) D $���!��8 "#��<�81 ��C""�<����9 ����)�! �')�4�$8�
:� 8 �6 =)�����9� # $�(�! E*F1 E,F1 �- �-

la(v, v′, Ua) = 0, lb(v, v′, Ub) = 0,

� $� ���)�<� C��!  � ���9 ���5�� 8 (9)�54����!1 �� ��5�� '��
$�5��% v(x) = 0;
�4� % cl D ���')�4�$���9� ��C""�<����91 ϕl(x) D '�$��8  � ���
�� ��6�(� ��9� "#��<�! E&�6� F1 #4�($��(�)8:;�8 �4��)�4�9�
�)��(9� # $�(�8� E*F1 E,F1 �- �-

la(ϕ,ϕ′, 0) = 0, lb(ϕ,ϕ′, 0) = 0; EGF

M D K4� ������� &�$%7��K<�$�� �� $��'�)����)1 �����)#:;��
&� ������� �%-

����� �&)�6��1 uM 1 �')�4�$����� "�)�#$�! E>F1 #4�($��(�)8�
�� ���4��)�4�9� =)�����9� # $�(�8� E*F1 E,F ')� ����� cl-

3��� �$.)% �84/)*,K+,($#0&/,

����9! ����4 ')�4'�$�=��� �)��=���$�6�<�: ��(86�� #)�(�
����8 E@F �� )�7���� E>F �� ( �� "#��<�8� &�6� �1 �- �-

1∫
0

(L(uM ) − f(x)) · ϕk(x)dx = 0, (k = 1, ...,M).

>+



H�� 4���  � ���#
M∑
l=1

Rk,lcl = bk,

=4�

Rk,l =

1∫
0

L(ϕl(x))ϕk(x)dx; E3F

bk =

1∫
0

(f(x) − L(v(x)))ϕk(x)dx. E?F

3�3� �$.)% /,&?$/;6&< 0*,%#,.)*

����9! ����4 ')�4'�$�=��� ������6�<�: "#��<����$�

φ =

1∫
0

(L(uM (x)) − f(x))2dx

6�  ��� '�4&�)� ���')�4�$���9� ��C""�<�����( cl ( uM (x), ���
4� ��=��� 8 )�7�����  � ���9

∂φ/∂ck = 0, �$�
M∑
l=1

Rk,lcl = bk, (k = 1, ...,M).

Rk,l =

1∫
0

L(ϕl(x))L(ϕk(x))dx; E2F

bk =

1∫
0

(f(x) − L(v(x)))L(ϕk(x))dx. EIF

>@



.)� ��� �$� ���� ����4� ����=)�$9 ( "�)�#$�� E3F1 E?F �$�
E2F1 EIF ')�4�� 8 (9�� $8�% ')�&$�5����- �4� % ')�4$�=��� 8
"�)�#$� ���' ��� ��  ����

xj = jh, h = 1/N, j = 0, ..., N (N D ������ M)

.# �% G(x) D =$�4��8 "#��<�81 ��=4�  ����� �%: 4� O(h4)

1∫
0

G(x)dx =
h

3

N∑
j=0

sjG(xj), E@+F

=4� s0 = sN = 11 � 4$8 j = 1, ..., N − 1 sj = 41 � $� j �������� �
sj = 21 � $� j ������-

�� ���9 #)�(����! ( ''- *-@- � *-*- )�7�:� 8 '� ����4# ��# �
 � E$#�7� '�  ���4�)���! ')�=)����F-

�� �94)# '&'.$?9 4,1&'/9< B8/0@&=

� ���� �(� ϕl(x) )�  ���)��  � ���#  �& �(���9� "#��<�!
K ��4��=�K E@F #)�(����8

ϕ′′(x) = −z2ϕ(x) E@@F

 =)�����9�� # $�(�8�� EGF- �)�(����� E@@F ����� )�7����

ϕ(z) = C1 cos(zx) +
C2

z
sin(zx),

� # $�(�8 EGF '�)�54�:�  � ���# (�4�(
r11 r12

r21 r22

) [
C1

C2

]
= 0. E@*F

��(�� �(� �#$: �')�4�$���$8 ���)�<9 C��!  � ���9 E���&���
4���� # $�(�� ���)�(��$%�� �� )�7���8F ')�(�4�� � �)�� <���
4������# #)�(����:

F (z) ≡ f1(z) − f2(z) ≡ ctg(z) − (a1z − a2/z)/a3 = 0, E@,F

>*



=4� a1, a2, a31 ��� � C$�����9 ���)�<9 �6  � ���9 E@*F1 6�(� 8�
�� ��C""�<�����( =)�����9� # $�(�!-

�)�"��� ��! ���$�6 �)�(9� f1(z) � f2(z) ( #)�(����� E@,F
'�6(�$8�� $���$�6�(��% �� ��54�� ����)(�$� (l − 1)π ≤ z ≤ lπ,
(l = 1, ...,M, ...) �4�� �(���9! ��)��% zl E)� - >F-

�� - >

��6��5�9  $#���1 ��=4� 6������� zl ���(�4��/

@F a3 = 0, a2 = 01 ��=4� zl = (l − 1)π D �#$�  ��# �Z
*F a3 = 0, a2 �= 01 ��=4� zl = lπ D �#$�  ��# �Z
,F a3 �= 0, a2 = a1 = 01 ��=4� zl = (l− 1/2)π D �#$� �� ��# �-
�  $#���1 ��=4� a3 �= 0, (a2 �= 0)

∨
(a1 �= 0)1 �)�&#�� 8 ���)��

<����9! ')�<�  4$8 )�7���8 #)�(����8 E@,F- ��4�5��� � ')�;�
')������% 64� % ����4 4�$���8 ��)�6�� '�'�$��/

z
(i)
l = z

(i−1)
l + sign(F (z(i−1)

l )hi−1; hi = hi−1/2. E@>F

h0 = π/4, z(0)
l = (l − 1/2)π; i = 1, ..., iT D 6�(�4��� 4� ��������

6�4����� �� $� ���)�<�!-

>,



��5�� '�$�5��% C1 = cr12, C2 = −cr11, c �= 0 D $:&�!
��)��)�(���9! ���5���$% E$#�7� (68�% c = 1F-

�������1 ��� ( @��  $#��� z1 = 01 ')� C��� ���69(��� 81 ���
� r11 = 0- ��=4� C2 = 0 � ��5�� '�$�5��% C1 = 1- � ���=� �����
"�)�#$#

ϕl(x) =
{
C1 cos(zlx) + C2

zl
sin(zlx)1 � $� zl �= 0,

1 1 � $� zl = 0.
E@GF

� #����� #)�(����8 E@@F � $���!�� �� v(x) ��5�� '�$#���%

L(ϕl(x)) = −(z2
l + p(x))ϕl(x), L(v(x)) = −p(x)v(x)

�1  $�4�(���$%��1 #')� ���% (9)�5���8 '�4 ����=)�$��� ( "�)�
�#$�� E3FBEIF-

>� �$'.)*)$ #$6$/&$

��6%��� 4(� =$�4��� "#��<�� g1(x), g2(x) E$#�7� ( �=� (68�%
exp(x) � exp(−x)F �  ��� �)#�)#�� �� ��(�� )�7���� ( (�4�

U(x) = d0(0.5 − x) sin2(2πx) + d1g1(x) + d2g2(x), E@3F

=4� d0 6�4�4�� ��� '�)����)1 � d1, d2 ��!4�� E ��� ��8��$%��F �6
=)�����9� # $�(�! E*F1 E,F1 ����)9� 4�4#�  � ���#

la(U,U ′, Ua) = 0, lb(U,U ′, Ub) = 0. E@?F

�� ��(9)�54���� �%: C��!  � ���9 ���&��4��� ')� $�4��%1
( �)�!���  $#��� ')�4�� 8 �6�����% (9&�) g1(x), g2(x).

.�)(��  $�=����� ( (9)�5���� E@3F 4��� �#$�(�! (�$�4 (  ��
 ���# E@?F � �� ($�8�� �� )� ��� d1, d21 �=� ')�4��6������� D
#(�$����% ( 4���� �)�<����9� <�$8� � �)�($���� �� ��(�=� )��
7���8-

.� $� '�$#����8 �� ��(�=� )�7���8 ')�(�8 �� �% #)�(����8
E@F '�4=��8�� 8 '� "�)�#$�

f(x) = L(U) = U ′′(x) − p(x)U(x).

>>



���(�4��1 ��� ')� C��� U(x) D )�7���� �)��(�! 6�4��� E@FBE,F-

�� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

�������4#�� 8 (9'�$���%  $�4#:;��/
@- ��4��% '�)����)9 ( 4��'�6���� d0 P+ B >1 M P* B *+1

N PG+ B @++1 Ua, Ub P+ B *1 iT P *+ B ,+-
*- .)�4# ���)��% (�6��5�� �% (94��� �� '����% E( <�$8� ����

�)�$8F 6������! zl1 ���)�<9 (Rk,l) � ')�(�! �� �� bk  � ���91 �
���5� ��C""�<�����( d1, d2- ���)�<� (Rk,l) 4�$5�� &9�%  ���
���)����!- �$8 ����4� ������%7�� �(�4)���( C��  �����)�8
4� ��=��� 8 �(�������� ��1 � 4$8 ����4� 	#&��(�D��$�)���� D
��$%�� ')� 4� ������� ������ ����=)�)�(���� '� ���' ��#1
�- �- ')� 4� ������� &�$%7�� N - (N >> M)-

,- .�$#���% � (94��% �� =)�"�� E� ( ��&$�<#F 6������8 uM (xj)1
U(xj) � ��)�9 '�=)�7�� ��

NormC = max
j

|uM (xj) − U(xj)|,

NormL =

√√√√ N∑
j=0

(uM (xj) − U(xj))2/(N + 1)

��  ���� xj (j = 0, ..., N) ')� )�6$���9� (�6)� ��:;�� 6�����
��8� M 1 ��')���) M = 2, 4, 6, 8, 10, 12. �&�4��% 8 (  ��4��� ��
')�&$�5����=� )�7���8 uM � �� ��(��# U -

�&4(&)7#,B&2$'0&= ':&')0

@- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1
�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-

*- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
,- ���$�� �- �- L� $����8 )��$�6�<�8 (�)��<����9� �����

4�(- �-/ ��#��1 @I33-

>G



+(,*, �� ��F��	� ����
���N�������
�����	 �

 �������	�
�����	�	

.)� )� ���� 6�4��� '�  ����� '�)(�=� '�)84�� ����� �� '��
$#��:� 8 =$�4��� ��������9�1 �� =)#&9� )�7���8- ����9 (��)��
=� '�)84�� &�$�� ����91 �� ( )�7���8� ')�8($8�� 8 ����������
�� �%- ��)�! ����� �� � ���� �(� )�7���8 ��5��  $#5��% (��
$����� 4� &�$�� � ( 6������  ��)�����81 ��� ��� ')�4$�5���9�
64� %  ���9 ����� �)(���(�9 �1  $�4�(���$%��1 �(�������� �� ��
(9'�$�8:� C�� 6����9-

� 4����! )�&��� ')�4$�=��� 8 �� $���� �  $�4�(��% )�&��#
 ��� )�6$����=� '�)84�� ')� )� ���� ��# ���� ��� (�$� 4$8 4(#�
"�6��� �� ��=$84�9� '� ����(�� 6�4���-

�� �)'.,/)*0, 1,%,2&

� �&$� �� (0 ≤ x ≤ 1, 0 ≤ t ≤ T ) )�  ���)��  � ���#

L1 ≡ ∂u

∂t
+

1
ρ0

∂p

∂x
= 0; E@F

L2 ≡ ∂p

∂t
+ ρ0c

2
0

∂u

∂x
= 0. E*F

�4� % u(x, t), p(x, t) D  ��)� �% � 4�($����1 ρ0, c0 D '$���� �%
�  ��)� �% 6(#�� (  )�4�1 6�4���9� '� ��8��9� '�)����)9-

�6 #)�(����! E@F � E*F  $�4#��

∂

∂t
(L1) − 1

ρ0

∂

∂x
(L2) ≡ ∂2u

∂t2
− c20

∂2u

∂x2
= 0; E,F

∂

∂t
(L2) − ρ0c

2
0

∂

∂x
(L1) ≡ ∂2p

∂t2
− c20

∂2p

∂x2
= 0. E>F

�(�4�� C��)=�: � )�&��#  �$ 4�($���8 �� ����)(�$� tk ≤ t ≤ tk+11

>3



�&�6����( w = 1/(ρ0c0)1

E(t) =
ρ0

2

1∫
0

(u2 + w2p2)dx; A(x) =

tk+1∫
tk

updt. EGF

�6  � ���9 E@F1 E*F  $�4#��

1∫
0

tk+1∫
tk

(ρ0uL1 +
p

ρ0c20
L2)dxdt = 0,

��� 4��� ����=)�$ C��)=��

E(tk+1) − E(tk) +A(1) −A(0) = 0. E3F

����� �&)�6��1 )�7����  � ���9 E@F1 E*F #4�($��(�)8�� (�$��(9�
#)�(����8� E,F1 E>F � ����=)�$# E3F-

�(�4�� �&�6������8 E������(9 ��(�)����9F/

Y = u+ wp, Z = u− wp, E?F

��=4� �6 #)�(����! E@F1 E*F '�$#���

L1 + wL2 ≡ ∂Y

∂t
+ c0

∂Y

∂x
= 0; E2F

L1 − wL2 ≡ ∂Z

∂t
− c0

∂Z

∂x
= 0. EIF

�6 #)�(����! E2F1 EIF  $�4#��

Y (x, t) = const �� $���� dx/dt = c0; E@+F

Z(x, t) = const �� $���� dx/dt = −c0. E@@F

�$8  ��� *�=� '�)84�� E �- ��5� '- *F ���&��4��� =$�4�� �%
����$%�9� # $�(�! p(x, 0) = p̄ ('$��% 4� *�� ')��6(�4�9�- �$8
C��=� ((�4�� ( h1���)� ��� �� ����� K)�6$���Kx1  =$�5�(�:;�!

>?



'�$���� Q(z) = 1 − 10z3 + 15z4 − 6z5, =4� z = (x − x1)/h1,
� x1, h1 D 6�4���9� '�)����)9- ��  ���)�� 64� % 4(� (�)����
�� '� ����(�� 6�4���-

���� �,':,% /,2,(;/)7) '7(,D$//)7) *':($'0,
%,*($/&� ?$D%8 /$:#).$0,$?9?& '.$/0,?&

u(0, t) = 0, u(1, t) = 0; E@*F

u(x, 0) = 0, p̄(x) =
{
PQ(|z|), � $� |z| < 1,

0, � $� |z| ≥ 1.
E@,F

�4� % P D ��'$��#4� ( '$� ��1 6�4���9! '�)����)-

��3� �,':,% /,2,(;/)= '7(,D$//)= '.8:$/;0&
%,*($/&� :#& 1,%,//)? %,*($/&& /, '.$/0,<

p(0, t) = pa, p(1, t) = pb, u(x, 0) = 0; E@>F

p̄(x) =

⎧⎨
⎩

pa, � $� z ≤ −1,
min(pa, pb) + |pa − pb|Q(z̄), � $� |z| < 1,
pb, � $� z ≥ 1.

E@GF

�4� % z̄ = (1 + sign(pa − pb)z)/2, pa, pb D 6�4���9� '�)����)9-

3� �)'.,/)*0, 0)/$2/)�#,1/)'./)= 1,%,2&

�(�4��  �����9� �&$� ��  #6$��� xj = jh, (j = 0, ..., N),
$�&� xj = (j − 1/2)h, (j = 0, ..., N + 1), tk = kτ, (k = 0, ..., kT ),
h, τ D 7�=� '� � 8� x � t, ')� C��� c0τ/h = R -

�4� % N, kT , R D 6�4���9� '�)����)9-
.� ��(�� (  ���(�� �(�� )�7���: 4�""�)��<��$%��! 6�4��

��  �����9� "#��<�� u(xj , tk) ≈ uk
j = uj , p(xj , tk) ≈ pk

j = pj ,

uk+1
j = ûj , p

k+1
j = p̂j - �$8 6������! ( '���=���$%�9� )�7���!

E�� ')���5#����9� ()�����9�  $�8�F ((�4�� u
k+1/2
j+1/2 1 p

k+1/2
j+1/2 -

.)�(�4�� 64� % �#5�9� ( 4�$%��!7�� "�)�#$9 �� $����=�
����=)�)�(���8- .# �% G(x) =$�4��8 "#��<�81 ��=4�  ����� �%:

>2



4� O(h2) "�)�#$9 �)�'�<�! � ')8��#=�$%����(  ���(�� �(����
&#4#�

1∫
0

G(x)dx =
h

2

N∑
j=0

sjG(xj),

1∫
0

G(x)dx = h
N−1∑
j=0

G(xj + h/2),

=4� s0 = sN = 11 � 4$8 j = 1, ..., N − 1 sj = 2-
��  ���)�� )�6$���9� (�)����9 )�6�� ��9�  ���

3��� �*8<6,7)*,� '<$?, 
,0',N�$/%#)BB,

.)�<�  1 �'� 9(���9! #)�(����8�� E@F1 E*F1 ')�4'�$�=��� 8
')�4�$5���9� 6� =)���<9 �4������=� ����)(�$� � (  ���(���
 �(��  =)�����9�� # $�(�8�� E )� - GF-

��6�� ���8  ���� ����� (�4

u
k+1/2
j+1/2 − (uj+1 + uj)/2

τ/2
+

1
ρ0

pj+1 − pj

h
= 0; E@3F

p
k+1/2
j+1/2 − (pj+1 + pj)/2

τ/2
+ ρ0c

2
0

uj+1 − uj

h
= 0; E@?F

(j = 0, ..., N).

ûj − uj

τ
+

1
ρ0

p
k+1/2
j+1/2 − p

k+1/2
j−1/2

h
= 0; E@2F

p̂j − pj

τ
+ ρ0c

2
0

u
k+1/2
j+1/2 − u

k+1/2
j−1/2

h
= 0; E@IF

(j = 1, ..., N).

�������1 ��� C��  ���� �'')�� ���)#�� #)�(����8 E@F1 E*F  �
(��)9� '�)84���- ��$����9 E(t), A(0), A(1) 64� % #4�&��  ���
���% '� "�)�#$� ')8��#=�$%����(-

>I



�� - G

� (�)����� @-@- 6�4��9 u(0, t) = 0, u(1, t) = 0 ')� ( �� t- ���
 :4�  $�4#�� ∂u

∂t = 0, ∂2u
∂t2

= 0- ��=4� �6 #)�(����! E@F1 E,F  $��

4#�� E � (��)9� '�)84���F ( ∂p
∂x)1/2 ≈ p1−p0

h = 0, �- �- p0 = p1.

(∂2u
∂x2 )1/2 ≈ u1−2u1/2+u0

h2/4
= 01 �- �- u0 = −u1- 
��$�=���� )�  #54�81

'�$#���� pN+1 = pN , uN+1 = −uN .
� (�)����� @-*- 6�4��9 p(0, t) = pa, p(1, t) = pb ')� ( �� t1 ���

�#4� '�$#��� ∂p
∂t = 0, ∂2p

∂t2
= 0- ��=4� �6 #)�(����! E*F1 E>F  $�4#��

E � (��)9� '�)84���F (∂u
∂x)1/2 ≈ u1−u0

h = 01 �- �-

u0 = u1; ( ∂2p
∂x2 )1/2 ≈ p1−2pa+p0

h2/4
= 01 �- �- p0 = 2pa − p1- 
��$��

=���� )�  #54�81 '�$#���� uN+1 = uN , pN+1 = 2pb − pN .
H�� K6�=)�����9�K6������8 '�6(�$8:�  �����% '� "�)�#$��

E@3F1 E@?F ')� j = 0, ..., N.

3�3� �<$?, * @$(9< 81(,<  ' :,#,?$.#)?"

��  ���)��  ���# E7�&$�� �� )� - 31 �F/

ûj − uj

τ
+

1
ρ0

pj+1 − pj−1

2h
− c0hσ

2
uj+1 − 2uj + uj−1

h2
= 0; E*+F

p̂j − pj

τ
+ ρ0c

2
0

uj+1 − uj−1

2h
− c0hσ

2
pj+1 − 2pj + pj−1

h2
= 0, E*@F

G+



=4� j = 0, ..., N.
.)� σ = 1 '�)84��  ���9 O(τ + h)1 ')� σ = R = c0τ

h D
D O(τ2 + h2). E(t), A(1), A(0)  ����:� 8 '� "�)�#$� �)�'�<�!-

�� - 3

��� 5�1 ��� � ( ''- ����1 64� % ( (�)����� @-@- # $�(�8
u(0, t) = 0, u(1, t) = 0 E')� ( �� t F ')�(�48� � # $�(�8�
∂u/∂t = 0, ∂2u/∂t2 = 0- ��=4� �6 #)�(����! E@F � E,F  $�4#��
( ∂p

∂x)0 ≈ p1−p−1

2h = 0 1 �- �- p−1 = p1; (∂2u
∂x2 )0 ≈ u1−2u0+u−1

h2 = 01 �- �-
u−1 = −u1- 
��$�=���� )�  #54�81 '�$#��� pN+1 =
= pN−1, uN+1 = −uN−1.

� (�)����� @-*- 6�4��9 p(0, t) = pa, p(1, t) = pb E')� ( �� tF1

���#4�  $�4#�� ∂p
∂t = 0, ∂2p

∂t2
= 0- ��=4� �6 #)�(����! E*F1 E>F �����

4�� (∂u
∂x)0 ≈ u1−u−1

2h = 01 �- �- u−1 = u1; ( ∂2p
∂x2 )0 ≈ p1−2pa+p−1

h2 = 01
�- �- p−1 = 2pa − p1- 
��$�=���� )�  #54�81 '�$#��� uN+1 =
= uN−1, pN+1 = 2pb −pN−1- � )�6#$%���� ��5��  �����% '� "�)�
�#$�� E*+F1 E*@F ')� j = 0, ..., N.

3��� �<$?, * &/*,#&,/.,< �&?,/,

��  ���)�� )�6�� ��#:  ���# 4$8 #)�(����! E2F1 EIF

Y k+1
j − Y k

j

τ
+ c0

Y k
j − Y k

j−1

h
= 0, (j = 1, ..., N); E**F

G@



Zk+1
j − Zk

j

τ
− c0

Zk
j+1 − Zk

j

h
= 0, (j = 0, ..., N − 1). E*,F

�� $�(�! =)���<� ����� �6 E*,F Zk+1
0 = uk+1

0 −wpk+1
0  #5�  ��

 ������9� 6�������� Zk+1
0 - � '�$%6#8 �4�� �6(� ���� =)�������

6������� uk+1
0 �$� pk+1

0 1 '�$#���� 4)#=��/ pk+1
0 �$� uk+1

0 .
�� ')�(�! =)���<� ����� �6 #)�(����8 E**F Y k+1

N = uk+1
N +

+ wpk+1
N - � '�$%6#8 �6(� ���� uk+1

N 1 '�$#��� pk+1
N .

��$����9 E(tk), A(0), A(1) 64� % #4�&��  �����% '� "�)�#$�
�)�'�<�!-

3�>� �*8'()=/,� /$�*/,� '<$?, ' *$')*9?&
0)CBB&@&$/.,?&

��  ���)�� (�)���� ��8(��!  ���9/

ûj − uj

τ
+ c0w(σ1

p̂j+1 − p̂j

h
+ (1 − σ1)

pj+1 − pj

h
) = 0; E*>F

p̂j − pj

τ
+
c0
w

(σ2
ûj − ûj−1

h
+ (1 − σ2)

uj − uj−1

h
) = 0, E*GF

=4� w = 1/(ρ0c0), 0 ≤ σ1, σ2 ≤ 1 D (� �(9� ��C""�<����9  ���9-
\�&$�� C��!  ���9 �� )� - 31 ��

� $� �4��()������ σ1 �= 0, σ2 �= 01 ��  ���� E*>F1 E*GF &#�
4�� ��8(��!- � C���  $#���  $�4#�� � �$:���% ( #)�(����� E*>F
p̂j , p̂j+1  '���;%: #)�(����8 E*GF ( (�)����� @-@- �$� ( #)�(�
����� E*GF ûj , ûj−1  '���;%: #)�(����8 E*>F ( (�)����� @-*- �
$:&��  $#��� '�$#��� #)�(����� (�4�

Avj−1 +Bvj + Cvj+1 = Gj , E*3F

=4� vj � �% $�&� ûj ( (�)����� @-@-1 $�&� p̂j ( (�)����� @-*-
�)�(����� E*3F C""����(�� )�7��� 8 ����4�� ')�=����- ��)�

�#$9 ����4� ')�(�4��9 64� % 4$8  ')�(��/

vj = Pjvj+1 +Qj ; E*?F

G*



Pj = −C/D; Qj = (Gj −AQj−1)/D; D = APj−1 +B, E*2F

(j = 1, ..., N − 1).

P0, Q0 &�6 �)#4� �')�4�$8:� 8 =)�����9�� # $�(�8��- � $�
'� "�)�#$�� E*?F1 E*2F ��!4��� ûj 1 �� p̂j ����4�� 8 �6 #)�(����8
E*GF1 ')���� û−1 = −û1 E �- '' 2.1.F � $� 5� ��!4��� p̂j 1 �� ûj

����4�� 8 �6 E*>F1 ')���� p̂N+1 = 2pb − p̂N−1 E �- '' 2.2. F
��$����9 E(tk), A(0), A(1) #4�&��  �����% '� "�)�#$� �)��

'�<�!-

�� �$'.)*)$ #$6$/&$

� ���� �(� �� ��(�=� '� �)��� ������ )�7���� 4$8 )�  ����
)���9� 64� % 4(#� (�)�����( '� ����(�� 6�4���-

����9(�8 )�(�� �(� E@+F � E@@F1 �����

Y (xj , tk) = Y (xj − c0tk, 0), Z(xj , tk) = Z(xj + c0tk, 0).

��� ��� u(x, 0) = 01 �� C��  �����7���8 4�:�

u(xj , tk) =
w

2
(p(xj − c0tk, 0) − p(xj + c0tk, 0)); E*IF

p(xj , tk) =
1
2
(p(xj − c0tk, 0) + p(xj + c0tk, 0)). E,+F

���(�4��1 ��� 6������8 x = xj±c0tk ��=#� (9��4��% 6� =)����
<9 �4������=� ��)�6��1 '�C���# 4$8  ���� �� ��(�=� )�7���8 '�
"�)�#$�� E*IF1 E,+F �#5�� ')�4�$5��% ����$%�9� # $�(�8 4$8
4�($���8 ���1 ���&9 (9'�$�8$� % =)�����9� # $�(�8-

���� �(82,= /$:#).$0,$?9< '.$/)0 /, 7#,/&@,<

�� =)���<�� x = 0, 1 6�4��9 u(x, t) = 01 ��=4� ∂p
∂x = 0, ∂2u

∂x2 =
= 0- �$8 �&� '�����8 C��� # $�(�! 4� ������� ')�4�$5��% ���
��$%��� )� ')�4�$���� p̄(x) ��)�6 =)���<9 x = m, (m = ±1, 2, ...)

G,



�� - ?

 �����)���� E )� - ?F- .# �% x = xj ± c0tk, l = trunc(|x|)1 �- �-
<�$�8 �� �% |x|- �(�4�� (�$����#

xp =
{

1 − (|x| − l), � $� l ��������1
|x| − l, � $� l ������1

p(x, 0) = p̄(xp). E,@F

��($���� p̄(xp)  ������ 8 '� "�)�#$� E@,F-

��3� �(82,= 1,%,//)7) %,*($/&� /, 7#,/&@,<

.# �% ')� x = 0, 1 6�4��9 pa, pb.1 ��=4� ∂u/∂x = 0, ∂2p/∂x2 =
= 0- �$8 �&� '�����8 C��� # $�(�! 4� ������� )� ')� �)����% 6��
(� ��� �% p̄(x) 6� =)���<9 x = m, (m = ±1, ...) ���� �����)����
E )� - 2F-

�(�4�� L(x) = pa(1−x)+pbxD '�$���� J�=)��5�- �&�6�����
tx = trunc(|x|),

l =
{
tx1 � $� x ≥ 0,
1 + tx1 � $� x < 0.

xp =
{

1 − (|x| − l), � $� l ��������,
|x| − l , � $� l ������.

��=4� �����

p(x, 0) = L(x) + (−1)l(p̄(xp) − L(xp)). E,*F

G>



�� - 2

��($���� p̄(xp)  ������ 8 '� "�)�#$� E@GF-
� ''- ,-@1 ,-* �� ��(�� )�7����  ������ 8 '� "�)�#$�� E*IF1

E,+F- �� )� - ?1 2 =)�"��� 4��9 # $�(��1 &�6  =$�5�(���8-

>� �$0)?$/%,@&& 0 :#)*$%$/&&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

��4��% ( � '�)����)9 6�4��� � ')�4�$��%  $�4#:;��/
@- �� �����% � �)=���6�(��% K'�4(�5�9�K=)�"��� 4�($���8

�  ��)� �� E )� ����9� )�6�� ��9� � �� ��(9�F-
*- �&�4��% 8 ( # $�(��! # ��!��(� �� 8(��!  ���9 E��$%��

')� R ≤ 1F � &�6# $�(��! # ��!��(� �� ��8(��!-
,- �&�4��% 8 (  ��4��� �� )�6�� ���=� )�7���8 � ������#1

'� $�4�(���$%�� #4(��(�8 N � ')�'�)<����$%�� kT -
>- �������% K"�6���� �%K��)���9 (�$� 4�($���8 �  ��)� ��-

�&4(&)7#,B&2$'0&= ':&')0

@- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
*- ��4#��( �- �-1 � 4)- L� $����� )�7���� ���=���)�9�

=�6�(�! 4������� 0 �- �- ��4#��(1 
- �- ��&)�4��1
�- �- �(���( � 4)- �-/ ��#��1 @I?3-

GG



+(,*, �!� ������
 ������
�

 �������	

���
�����������	�
����
����� 	 ���G�
�����
���������� �G���

� 4����! )�&��� ')�4� ��($8�� 8 (�6��5�� �% �6#���% '�(��
4���� )�6�� ��9� )�7���!1 '�$#����9� '� 4(# $�!��!  ����  (��
 ���1 � ���5� '� �)�� $�!�9� 8(�9�  ����� �:"�)��D�)����$�
� ����)4 ���1 ���8 '� $�4�88 6�(�4��� ��')�=�4��- .)� C���
# ��!��(� �% E�$� ��# ��!��(� �%F1 '�)84��  ��4��� ��1 �����
����� �% '�$#����9� )�7���! 4�$5�9 &9�% (  ���(�� �(��  
')�4'� ���8�� ���)��- ��5�9! ������ D ���&��4��� �%  ����
(�� �(�8 '�)84�� �'')�� ���<�� =)�����9� # $�(�! '�)84�# )�6�
�� ���!  ���9-

���� �(� � ����� �% )�&��9  ���9 ')�(�)8�� 8 64� %  ���(���
 �(��� �� $����=� )�7���8 "�6��� ���#  �9 $# E)� ')� �)����
��: ��'$�F1 � ���5�  )�(������  �� ��(9� )�7�����-

� '�$����$: ')�4$�=��� 8 ( ��54�� ����)����� (�)����� '��
$#���%  ��� ��8��$%�� ������)9� (9)�5���8 4$8 �� ��(�=� )��
7���81 � ���5� 4$8 )��$�6�<�� =)�����9� # $�(�! )�6�� ���!
6�4���-

��)84#  �&9��9�� �&�6������8�� 4$8 ')��6(�4�9� '� ()��
���� � ���)4�����1 64� % � '�$%6#:� 8  ��)�;���9� D ������9�
� 7�)���(9�-

�� �)'.,/)*0, 1,%,2&

��  ���)�� 6�4��# � )� ')� �)������ ��'$� (  ��)5��1 ��'$��
�6�$�)�(����� '� K'�(�)��� �� �� ���<�� ����)�=� (9'�$�8:� 8
)�6$���9� # $�(�8 ��'$��&����/

∂u

∂t
=
∂2u

∂x2
+ f(x, t), 0 ≤ x ≤ 1, 0 ≤ t ≤ T. E@F

G3



�)�����9� � ����$%�9� # $�(�8/

')� x = 0 la(u, u′, ua) = 0; E*F

')� x = 1 lb(u, u′, ub) = 0, E,F

��')���)1 u′(0, t)−2(u(0, t)−ua) = 0, u′(1, t)+3(u(1, t)−ub) = 0,

')� t = 0 u(x, 0) = ψ(x). E>F

�4� % f(x, t) D 6�4����8 E( (�)������F ')�(�8 �� �%1 la,
lb D $���!�9� 4�""�)��<��$%�9� (9)�5���81 ua, ub D 6�4���9�
'�)����)9 $�&� 6�4���9� � ��'������ �� '� ��8��9� "#��<��
()����� t E���'�)��#)� ��)#5�:;�!  )�49F1 ψ(x) D 6�4����8
"#��<�8 E����$%��� )� ')�4�$���� ���'�)��#)9 (  ��)5��F-

3� �$'.)*)$ #$6$/&$

� $� f(x, t) = 0 � t → ∞1 �� u(x, t) → va(x)1 �- �- � K� ��'���
���� ���#K)�7���: #)�(����8 E@F- ���(�4��1 ��� $���!�� � �=�
��5�� 6�'� ��% ( (�4�

va(x) = wa(1 − x) + wbx, EGF

=4� wa, wb ����48� 8 �6 # $�(�8 #4�($��(�)���8 va(x) =)�����9�
# $�(�8� E*F1 E,F-

�����$� )�  ���)�� ( '���=���$%�#: �4��)�4�#: 6�4��#

U̇ = U ′′; E3F

la(U,U ′, 0) = 0, lb(U,U ′, 0) = 0; E?F

U(x, 0) = Ψ(x), E2F

=4� "#��<�8 Ψ(x) '�65� E( (�)������F &#4�� ����)���6�)�(���-
��7���� 6��! 6�4��� �;�� ( (�4� )84�

U(x, t) =
∞∑
l=1

Tl(t)Xl(x); EIF

G?



Xl(x) = C1 cos(zlx) +
C2

zl
sin(zlx); E@+F

Tl(t) = C0,l exp(−z2
l t). E@@F

Xl(x) #4�($��(�)8�� #)�(����: X ′′ = −z2X � =)�����9� # $�(��
8� E?F- H�� # $�(�8 '�)�54�:�  � ���# 4$8 ����54���8 C1, C2,
���:;#: (�4

2∑
l=1

ri,lCl = 0, (i = 1, 2). E@*F

��(�� �(� �#$: �')�4�$���$8 (  � ���� E@*F ')�(�4�� � #)�(�
����:

(a1z − a2/z) sin z − a3 cos z = 0,

�$� ( 4)#=�� (�4�

F (z) ≡ f1(z) − f2(z) ≡ cos z/ sin z − (a1z − a2/z)/a3 = 0. E@,F

ri,l, a1, a2, a3 ( E@*F � E@,F (9)�5�:� 8 ��)�6 6�4���9� ��C""��
<����9 =)�����9� # $�(�! E*F1 E,F-

�� ��54�� ����)(�$� [(l − 1)π, lπ], l = 1, 2, ... ����� 8 �4���
 �(���9! ��)��% zl #)�(����8 E@,F E )� - IF

�� - I

.)� C��� (�6��5�9  $#���/
@F a3 = 0, a2 = 0, ��=4� zl = (l − 1)πZ

G2



*F a3 = 0, a2 �= 01 ��=4� zl = lπ;
,F a3 �= 0, a2 = a1 = 01 ��=4� zl = (l − 0, 5)π;
>F a3 �= 0, a2 �= 0 �$� a1 �= 01 ��=4� zl �;�� 8 ���)�<��! E����4

')�&F/

z
(i+1)
l = z

(i)
l + sign(F (z(i)

l ))hi; hi+1 = hi/2, E@>F

z
(0)
l = (l − 0.5)π, h0 = π/4, i = 0, 1, ..., iT , l = 1, ..., lk.

�4� % iT D 4� �������� E∼ 30F ��$��� �(� ���)�<�!1 lk D 4� ���
������ E∼ G+B@G+F ��$��� �(� ��)��! #)�(����8 E@,F D C�'�)��
�� �� '�4�&)���9� � 6�4�(���9� '�)����)9-

�6  � ���9 E@*F ����� C1 = cr1,2, C2 = −cr1,1, c D ')��6�
(�$%�9! ���#$�(�! ���5���$% E$#�7� (68�% c = 1F-

� '�)(��  $#��� z1 = 0, r1,1 = 01  $�4�(���$%��1 ��5�� '�$��
5��% C1 = 1, C2 = 0. ����� �&)�6��1

Xl(x) =
{
C1 cos(zlx) + C2

zl
sin(zlx), � $� zl �= 0,

1, � $� zl = 0.
E@GF

��5�� ��'� )�4 �(���� '���6��%1 ���
∫ 1
0 Xl(x)Xm(x)dx �= 0

��$%�� ')� l = m- �&�6����� Al =
∫ 1
0 X

2
l (x)dx-

� #�����  �����7���8 X ′′
l = −z2

l Xl 4$8 Al ����4�� 8 (9)�5��
���

Al =

⎧⎪⎨
⎪⎩

1
2(C2

1 + (C2
zl

)2) − 1
2z2

l
[Xl(x)X ′

l(x)]

∣∣∣∣∣
1

0

, � $� zl �= 0,

1, � $� zl = 0.

E@3F

��6$�5�� va(x) � ψ(x) ( )84 '� &�6� # Xl(x) :

va(x) =
∞∑
l=1

vlXl(x), vl =
1
Al

1∫
0

va(x)Xl(x)dx,

ψ(x) =
∞∑
l=1

ψlXl(x), ψl =
1
Al

1∫
0

ψ(x)Xl(x)dx;

GI



vl � ψl $�=�� ����48� 8/

vl =
1
Al

⎧⎪⎨
⎪⎩

− 1
z2
l
[va(x)X ′

l(x) − (wb − wa)Xl(x)]

∣∣∣∣∣
1

0

, � $� zl �= 0,

(wb + wa)/2, � $� zl = 0.
E@?F

.)�(�4�� ������)9� (�)����9 6�4���8 ψ(x) �  ���(�� �(����
ψl/

+F ψ(x) = 0, ψl = 0 ( ')� ( �� l).

@F ψ(x) = U0

{
1 − s, � $� s ≤ 1,

0, � $� s > 1.
�4� % s = |x − x0|/h0, (h0 ≤ x0 ≤ 1 − h0), ψ(x) D "�����

��8 "#��<�8 ( (�4� )�(��&�4)����=� �)�#=�$%����  (9 ���! U01
(�)7���! ( ����� x0 � 7�)���! '�$#� ��(���8 h0-

ψl =
U0h0

Al

{
−Xl(x0+h0)−2Xl(x0)+Xl(x0−h0)

z2
l h2

0
, � $� zl �= 0,

1, � $� zl = 0.
E@2F

��  ���)�� (�)����9 '� ����(�� 6�4��� E@FBE>F �  ���(���
 �(����1 �� ��(9� )�7���!-

3��� +#,/&2/9$ 8'()*&� '.,@&)/,#/9E :#,*)=
2,'.& /$.

.# �% ua = Ua, ub = Ub, f(x, t) ≡ 0. Ua, Ub D 6�4���9� '��
 ��8��9� '�)����)9- �(�4�� "#��<�: U(x, t)  �����7�����

u(x, t) = va(x) + U(x, t).

U(x, t) &#4�� )�7����� 6�4��� E3FBE2F1 =4� ( ����$%�9� # $�(�8�
 $�4#�� '�$�5��% Ψ(x) = ψ(x)− va(x)- � (9)�5���� E@@F ���')��
4�$���9� C0,l '�$#��� �6 C��� # $�(�!-

��'�)% �� ��(�� )�7���� 6�4��� E@FBE>F ��5�� &9�% ')�4 ��(�
$��� ( (�4�

UT (x, t) = va(x) +
lk∑

l=1

(ψl − vl) exp(−z2
l t)Xl(x). E@IF

3+



3�3� +#,/&2/9$ 8'()*&� /$'.,@&)/,#/9E :#,*)=
2,'.& /$.

.# �% ua(t) = Ua(1− e−w0t), ub(t) = Ub(1− e−w0t), f(x, t) ≡ 0.
Ua, Ub, w0 D 6�4���9� '�)����)9- w0 �= z2

l E')� ( �� lF-
��  ���)�� "#��<�: V (x, t) � �� ')��6(�4�#: '� ()�����/

V (x, t) = va(x)(1 − e−w0t); E*+F

V̇ (x, t) = w0va(x)e−w0t. E*@F

�(�4�� "#��<�: U(x, t)  �����7����� u(x, t) = V (x, t) + U(x, t).
U(x, t) &#4�� )�7����� 6�4���

U̇ = U ′′ − V̇ (x, t), E**F

la(U,U ′, 0) = 0, lb(U,U ′, 0) = 0,

U(x, 0) = Ψ(x) = 0.

��7���� C��! 6�4���  �4��)�4�9� #)�(������ E**F1 �- �- ')�
V̇ (x, t) = 01 4��� 8 )�  ���)���9�� (97� "�)�#$��� EIFBE@@F-
��)��<�8 ')��6(�$%�9� '� ��8��9� C0,l  #����� ')�(�! �� ��
#)�(����8 E**F 4��� ( ���=� �� ��(�� )�7����

UT (x, t) = va(x) − [va(x) − w0S1(x)]e−w0t + S2(x, t); E*,F

S1(x) =
lk∑

l=1

vl

w0 − z2
l

Xl(x); E*>F

S2(x, t) =
lk∑

l=1

(ψl − w0vl

w0 − z2
l

)e−z2
l tXl(x). E*GF

�84 E*>F  ��4�� 8 ��4$����1 '�C���#  $�4#�� (68�% lk &�$%7��
E∼ @++B@G+ F � ')� #���)�(��% �=� E)84F (�� ()������=� <��$�-

3@



3��� +#,/&2/9$ 8'()*&� '.,@&)/,#/9E :#,*,�
2,'.; $'.;

ua = Ua, ub = Ub, ψ(x) ≡ 0. Ua, Ub D 6�4���9� '�)����)9-
� ���� �(� ')�(�! �� �� (�6%��� ������#:  #��# )84� �#)%�

f(x, t) = f(x) =
lk∑

l=1

FlXl(x)

)�6$�5���8 "#��<�� D $���$%��=� ( '$� �� ( ����� x1 ( (�4�
)�(��&�4)����=� �)�#=�$%����

F (x) = f1

{
1 − s, � $� s < 1,

0, � $� s ≥ 1,
E*3F

=4� s = |x− x1|, (h1 ≤ x1 ≤ 1 − h1), f1 D (9 ���1 h1 D '�$�(���
7�)��9 � ��(���8-

Fl =
1
Al

1∫
0

F (x)Xl(x)dx,

Fl =
f1h1

Al

{
−Xl(x1+h1)−2Xl(x1)+Xl(x1−h1)

z2
l h2

1
, � $� zl �= 0

1 , � $� zl = 0.
E*?F

�(�4�� "#��<�: U(x, t)  �����7����� u(x, t) = va(x)+U(x, t),
��=4� 4$8 U(x, t) ����� 6�4��#

U̇ = U ′′ + f(x), E*2F

la(U,U ′, 0) = 0, lb(U,U ′, 0) = 0,

U(x, 0) = 0.

��7���� C��! 6�4���  �4��)�4�9� #)�(������ E*2F1 �- �- ')�
f(x) = 0, 4��� 8 "�)�#$��� EIFBE@@F- .)�(�)%�)#�� ')��6(�$%�
�9� '� ��8��9� C0,l ( E@@F  #����� ���4��)�4�� �� #)�(����8
E*2F- .�$#��� ( ���=�1 � $� z1 �= 0,

UT (x, t) = va(x) +W1(x) −W2(x, t); E*IF

3*



W1(x) =
lk∑

l=1

Fl

z2
l

Xl(x); E,+F

W2(x, t) =
lk∑

l=1

(vl +
Fl

z2
l

)e−z2
l tXl(x). E,@F

� $� z1 = 0, �� '� $� )� �)9��8 ���')�4�$���� ��! (  #����
E*IF '�$#���

UT (x, t) = (F1t−v1)X1(x)+va(x)+
lk∑

l=2

Fl

z2
l

Xl(x)−
lk∑

l=2

(vl+
Fl

z2
l

)Xl(x)e−z2
l t.

E,*F

�������
� �� � "�)�#$�� E@IF � E,@F )84 ')� t = 0 ��  ��4���
 8 )�(����)��1 '�C���# ( ����$%�9! ������ UT (x, 0) �= ψ(x)1 ���8
�� )�6�� �% ��$� �  �)���� 8 � �#$: ')� lk → ∞ E �� ')��6(�4�
�9� ��  �)��8� 8MF- .�C���# ����$%��� # $�(�8 ψ(x) 4$8 )�6�� ��
�9� )� ����( � 4$8 �� ��(�=� )�7���81 ���8 � ��6������$%��1 ��
)�6$���:� 8- .)� � '�$%6�(����  ��� �� (97� (��)�=� '�)84��
C�� )�6$���� �� #;� �(����1 �� 4$8 )� ����( '�(97����=� '�)84�
�� ����� �� O(τ2 + h4) ����$%�9� # $�(�8  $�4#�� (68�% ( (�4�
u(x, 0) = UT (x, 0) ')� �=)��������� lk ∼ ,+ B >+-
�������
� �� .)� t > 0 )8491  �4�)5�;�� (9)�5���� e−z2

l t

( "�)�#$�� E@IF1 E*,F1 E*IF � E,*F1  ��48� 8 &9 �)�- � <�$8� C���
����� ()�����  ���� )�6#��� �&�)(��%  #���)�(����1 ��� ��$%��
C� '������  ����� ���%7� ��$�! E∼ 10−9B10−12 F 6�4����! '�)��
=�(�! (�$����9-

�� �,1/)'./)$ 8#,*/$/&$E #,1/)'./9$ 7#,/&2/9$
8'()*&�

�(�4�� ( �&$� �� )�7���8 6�4��� E@FBE>F )�(����)�#:  ���#
xj = jh (j = 0, ..., N1 = N), tk = kτ (k = 0, 1, ...), =4� h = 1/N,

3,



τ = Rh2, R D "�� �)�(���9! '�)����) )�6�� ���! 6�4���- �
(�)����� K=KE �- ��5�F '���4�&�� 8 K 4(��#��8K ���� '� � � x :

xj = (j − 0.5)h, h = 1/N, (j = 0, ..., N1 = N + 1).

��6�� ��9� )�7���8 E� 4)#=�� (�$����9 6�4���F ��  ���� �&��
6�����

uk+1
j ∼ ûj , u

j−1
j ∼ ǔj , u

k+1
a ∼ ûa, u

k
a ∼ ua � 4)-

.)��6(�4�#: u′ ( =)�����9� # $�(�8� ��5�� �'')�� ���)��
(��% )�6�� ��9�� (9)�5���8��  )�6$���9� '�)84���- ��  ����
)�� ������)9� (�)����9/

�F u′0 ≈ (u1 − u0)/h, u′N ≈ (uN − uN−1)/h E,,F

D C�� =)#&�� ')�&$�5���� E'�)(�=� '�)84��F ')�4$�=��� 8 64� %
4$8 K����)� ��K'� $�4#:;�� (�)������Z

&F u′0 ≈ (u1 − u−1)/(2h), u′N ≈ (uN+1 − uN−1)/(2h) E,>F

D C�� ')�&$�5���� (��)�=� '�)84��1 � '�$%6#:;�� )� 7�)����
�&$� �� 4�! �(�8 #)�(����8 E@F � �=� )�7���8Z

(F u′0 ≈ −3u0 + 4u1 − u2

2h
, u′N ≈ uN−2 − 4uN−1 + 3uN

2h
E,GF

D C�� ')�&$�5���� (��)�=� '�)84��1 �� (9(�48;�� 6� ')�4�$9
�&$� ��Z

=F u′1/2 ≈ (u1 − u0)/h, u′N+1/2 ≈ (uN+1 − uN )/h E,3F

D C�� ')�&$�5���� (��)�=� '�)84�� (  ��;����!  ���� #6$�( xj =
(j − 0, 5)h E )� - @+1 �FZ

4F u′0 ≈ u1 − u−1

2h
− h2u′′′0 /6, u

′
N ≈ uN+1 − uN−1

2h
− h2u′′′N/6 E,?F

D C�� ')�&$�5���� ���(�)��=� '�)84��1 � '�$%6#:;�� )� 7�)��
��� �&$� ��1 ��� � ( (�)����� K&K- �9)�5���� u′′′0 ����4�� 8 (

3>



(�4� u′′′0 = qa(u′′0 + f0) − f ′0 − qau̇a �6 ���(�4�9� 4�""�)��<��$%�
�9�  $�4 �(�! #)�(����8 E@F � # $�(�8 E*F

∂

∂x
(u̇0 − u′′0 − f0) = 0,

∂

∂t
[la(u, u′, ua)] = 0.


��$�=����1 u′′′N = −qb(u′′N + fN )− f ′N + qbu̇b  $�4#�� �6 #)�(����8
E@F � # $�(�8 E,F

∂

∂x
(u̇N − u′′N − fN ) = 0,

∂

∂t
[lb(u, u′, ub)] = 0.

qa, qb D ��C""�<����9 ( ����)���9� (�)������ =)�����9� # $��
(�!-

�)�����9� # $�(�8 E*F1 E,F �'')�� ���)#�� )�6�� ��9�� (9�
)�5���8��1 '�$#����9��  � '�$%6�(����� "�)�#$ E,,F1 E,>F1
E,GF1 E,3F �$� E,?F- ��6�� ��9� =)�����9� # $�(�8 �&�6�����

l(h)
a (û0, û

′
0, ûa) = 0, l(h)

b (ûN , û
′
N , ûb) = 0, E,2F

�$� l
(h)
a (û1/2, û

′
1/2, ûa) = 0 l

(h)
b (ûN+1/2, û

′
N+1/2, ûb) = 0 E4$8 (�)��

���� K=KF-
��')���)1 ( (�)����� K&K

(û1−û−1)/(2h)−2(û0−ûa) = 0, (ûN+1−ûN−1)/(2h)+3(ûN−ûb) = 0.

���� �*8'()=/,� #,1/)'./,� '<$?,

�)�(����: E@F '� ��(�� (  ���(�� �(�� )�6�� ���� #)�(�����

ûj − uj

τ
= σΛûj + (1 − σ)Λuj + f̄j , E,IF

Λuj = (uj−1 − 2uj + uj+1)/h2; σ D (� �(�! '�)����)  ���9 E,IF1
0 ≤ σ ≤ 1- .)� σ = 0  ���� 8(��81 ')� σ �= 0 D ��8(��8-
f̄j = f(xj , t̄), =4� t̄ = tk + στ 1 �� ')� σ = σ∗ E �-��5� '- ,F
t̄ = tk + 0, 5τ.

3G



��6�� ���� #)�(����� E  ���� E,IF F  (869(��� 6������8 uk
j (

#6$�� �� 7�&$���1 '���6����� �� )� - @+1 �� �� �6(� ���1 ��� C��
)�6�� ���� #)�(����� �'')�� ���)#�� #)�(����� E@F  '�)84���
O(τ + h2) ')� σP+ �$� @1  '�)84��� O(τ2 + h2) ')� σ = 1/2 �  
'�)84��� O(τ2 + h4) ')� σ = σ∗ = 0, 5 − 1/(12R). .)� C��� ( �
��8(�9�  ���9 # ��!��(9 ')� σ ≥ 0, 5 − 1/(4R).

�� - @+

.)��&)�6#�� )�6�� ���� #)�(����� E,IF � (�4#

L(ûj) ≡ Aûj−1 +Bûj + Cûj+1 = Gj , (j = 1, ..., N1 − 1), E>+F

=4� ( Gj  �&)��9 ( � (9)�5���8 �� k��  $��1 � ���5� ')�(�8 �� �%
f̄j .

�)�(����� E>+F #4�&�� )�7��% '� ����4# ')�=����/

ûj = Pj ûj+1 +Qj , (j = 0, ..., N1 − 1); E>@F

Pj = −C/Dj , Qj = (Gj −AQj−1)/Dj , (j = 1, ..., N1 − 1), E>*F

=4� Dj = APj−1 +B.
� $� �6(� ��9 P0, Q01 �� '� "�)�#$�� E>*F ( � Pj , Qj ����48��

 8 )��#))�����1 6����1 � $� �6(� ��� ûN1 1 �� ( � ûj ����48� 8 '�
"�)�#$� E>@F 4$8 j = N1 − 1, ..., 0.

�$8 ����54���8 P0, Q0, ûN1  $�4#�� ')�($��%( ��54�� ����
�)����� (�)����� E [�[B[4[ F )�6�� ��9� =)�����9� # $�(�8 (�4�
E,2F1 � ���5�1 � $� �#5��1 )�6�� ���� #)�(����� � E�$�F "�)�#$9
')�=����-
��
 x = 0 
����/

�F l
(h)
a (û0, û

′
0, ûa) = 0;
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&1 4F

⎧⎨
⎩

l
(h)
a (û0, û

′
0, ûa) = 0,

Aû−1 +Bû0 + Cû1 = G0(u−1, u0, u1),
E� �$:���% û−1, u−1);

(F

⎧⎨
⎩

l
(h)
a (û0, û

′
0, ûa) = 0,

Aû0 +Bû1 + Cû2 = G1(u0, u1, u2),
E� �$:���% û2);

=F l
(h)
a (û1/2, û

′
1/2, ûa) = 0, û1/2 = (û0 + û1)/2.

� (�)������ K& K( K4K'� $� � �$:����!1 � ( K�K� K=K&�6 � �
�$:����! '�$#��� (9)�5���� (�4� û0 = αû1 + β- �)�(��(�8 �=�
 (9)�5����� E>@F ')� j = 01 '�$#��� P0 = α, Q0 = β.

� $� ')��6(�4��8 u′ ( =)������� # $�(�� �� #� �(#��1 �� (�
( ��  $#��8�1 �)��� K= ���(�4��  )�6#  $�4#�� P0 = 0, Q0 = ûa-

� (�)����� K(K�#5�� � �&� ')�4# ���)��%  $#��! 8(��!  ���
�9 (σ = 0)-

��$����# u−11 ���&��4��#: 4$8 � �$:����8 ( (�)������ K&K�
K4 ��5�� '�$#���% �6 )�6�� ��9� =)�����9� # $�(�! �� ]��
()�������  $�� l(h)

a (u0, u
′
0, ua) = 0 ( C��� (�)������-

��
 x = 1 
���� E'� $� ����54���8 ( �� Pj , QjF/

�F

{
l
(h)
b (ûN , û

′
N , ûb) = 0,

ûN−1 = PN−1ûN +QN−1;
&1 4F

⎧⎨
⎩

l
(h)
b (ûN , û

′
N , ûb) = 0,

L(û) = GN ,
ûN−1 = PN−1ûN +QN−1;

(F

⎧⎨
⎩

l
(h)
b (ûN , û

′
N , ûb) = 0,

ûN−1 = PN−1ûN +QN−1,
ûN−2 = PN−2ûN−1 +QN−2;

=F

⎧⎪⎨
⎪⎩

l
(h)
b (ûN+1/2, û

′
N+1/2, ûb) =

= 0,
ûN = PN ûN+1 +QN .

�6 C���  � ��� '�$#��� ( $:&�� (�)����� ûN1 - � (�)�����
K=K'�4)�6#��(��� 8 ûN+1/2 = (ûN+1 + ûN )/2.

�������	�/ � $� ')��6(�4��8 u′ ( =)������� # $�(�� �� #��
 �(#��1 �� (� ( ��  $#��8�1 �)��� K= ���(�4��1  )�6#  $�4#�� ûN =
ûb.

� (�)������ K&K� K4K�#5�� � �$:���% ( (9)�5���� GN (��
$����# uN+11 ����)#: ��5�� '�$#���% �6 )�6�� ��9� =)�����9�

3?



# $�(�! C��� (�)�����(-
� (�)����� K=K4$8 (94��� )�6#$%����( ��4� '�$#���% '�$#�

 #��# (ûj + ûj+1)/2.

��3� �#$<'()=/9$ #,1/)'./9$ '<$?9

��  ���)�� 4(� (��7�� '���5�� 8(�9�  ���9 E)� - @+1 �F/
@F ��6�� ���8  ���� � !�����"�������-
�$8 #)�(����8 E@F C��  ���� ����� (�4

ûj − ǔj

2τ
=
uj+1 − (ûj + ǔj) + uj−1

h2
+ fj . E>,F

��� �'')�� ���)#�� #)�(����� E@F  '�=)�7�� �%: O(τ + h2)
� # ��!��(� ')� $:&9� R = τ/h2- �� ')� &�$%7�� R )�6�� ����
)�7���� ��5�� &9�% K����������9� �- �- ����% �=)�������9�1
���8 � ����$9�1 � <�$8<��-

*F ��6�� ���8  ���� #
���$	���-

ûj − ǔj

2τ
=
uj+1 − 2uj + uj−1

h2
+ fj E>>F

����� '�)84�� �'')�� ���<�� O(τ2+h2)1 �� ��# ��!��(� ')� $:�
&9� τ � h1 ( ��� ���)#4�� #&�4��% 8 ( )� ����-

���&��4��9! 4$8 ����$� )� ���� '� C���  ����� (��)�! K���
��$%�9!K  $�! ��5�� '�$#���%  '���;%: )84� �C!$�)�- � )��
6#$%���� �����

u0
j = ψ(xj), (j = 0, ..., N1); E>GF

u1
j = u0

j + τ u̇0
j +O(τ2), (j = 1, ..., N1 − 1). E>3F

����� �&)�6��1 4$8  ���9 �:"�)��D�)����$� ����� E #�����
#)�(����8 E@F F

ûj =
{
u0

j +R(u0
j−1 − 2u0

j + u0
j+1) + τf0

j , � $� k = 0,
((1 − 2R)ǔj + 2R(uj+1 + uj−1) + 2τfj)/(1 + 2R), � $� k > 0.

E>?F
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j = 1, ..., N1 − 1,

û0, ûN1 ��5�� '�$#���%1 � '�$%6#8 )�6�� ��9� (9)�5���8 =)��
����9� # $�(�! E,2F- H�� # $�(�8 ( (�)������ K� K(K� K=K'��
6(�$8:� ��'� )�4 �(���� '�$#���% û0, ûN1 ��)�6 6������8 ûj (�
(�#�)����� #6$��- � (�)����� K&K ����$� ����48� 8 u−1, uN+1

�6 # $�(�! E,2F �� k��  $��1 � 6���� û0, ûN '� "�)�#$�� E>?F-
� (�)����� K= ��� � (  $#��� 4(# $�!��!  ���91 )�6#$%���9

 $�4#�� (94�(��% �� ( )� ����9� #6$�� xj 1 � (  ��;���9� EK"��
6��� ���KF xj+1/2 �-�- uj+1/2 = (uj + uj+1)/2, (j = 0, ..., N). ��)��
��� K4K64� % � �� �(���� �� � '�$%6#�� 8-

>� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

� 4����! )�&��� �������	�� '���6��%  $�4#:;��/
D �6������� )�7���! K(� ()����� �- �- ( 4(�5����1 � # ���

��($����  ���(�� �(�8 )�7���! "�6��� ���#  �9 $# 6�4��� 4$8
8(��! � ��8(��!  ���9-

D �$8 (�)����� 4(#� $�!��!  ���9/ # $�(�#: # ��!��(� �%
8(��!  ���9 E�- �- ��$%�� ')� R ≤ 1/2 F � &�6# $�(�#: # ��!���
(� �% ��8(��!-

�$8 (�)����� �)�� $�!�9�  ���/ &�6# $�(�#: # ��!��(� �%
 ���9 �:"�)��D�)����$�  #�#47����� ����� �� � ���� �(� )��
7���8 ')� #(�$������ R1 ��# ��!��(� �%1 �- �- '�$�#: ��')�=�4�
�� �%1  ���9 ����) ���-

D ��&��# � ')���#;� �(� ��8(�9�  ��� ')� &�$%7�� R ∼ *B@+
')�  �)��$���� �� $����=� )�7���8 � K� �������� ���#K-

D ���4��� �% )�7���!1 '�$#����9� '� # ��!��(9�  ����� ��
K �'� ��(��9�  �����K')� τ, h→ 0 � R "�� �)�(�����-

D �<���# (�$����9 � '�)84�� ��$� �� ��)�9 '�=)�7�� ��
)�7���8 E max

j
|uj −UT (xj , tk)|F 4$8  ��� )�6$����=� '�)84�� �  

)�6$���9�� 7�=���1 ��')���) N = 20, 40, 80, 160 �1  ���(�� (���
��1 kT = 20, 80, 320, 1280- �������� t = τkT ')� C��� 4�$5�� &9�%
'� ��8��9� 4$8 ��54�! '�)9 N � kT .
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� 4����! )�&��� �����
��
��� )������4#�� 8
D �� 6�(�4��% ( ')�=)���� ���)���9� ��  �(�( 4$8 (�$��

��� ��'� uk
j 1 �- � ��$��� �(� ()�����9�  $��( ��5�� ���6��% 8

 $�7��� &�$%7��-
D �� ')���&)�=��% ��)��� '� C������� ()�����  ���� E�����

����� *1 '- *1 �;���$%��8 �� ��� <��$�( � �- 4F-
D ��=���(��% (�)���� ��� ��(�=� E��&$����=�F (�4� (94��

( '���=���$%�9� (�$���� zl, Al, vl, ψl, Pj , Qj � �- 4-1 � ���5� )��
6#$%����( uk

j , UT (xj , tk), va(xj) 4$8 �&$�=����8 ��$�4�� ')�=)���
�9-

D �� C�)��1 '����� =)�"���( )�6#$%����(1 (94��% K�#$�(#:K$���:1
� ���5� � ��(�9� 6�4���9� '�)����)9 ER, σ,N, kT D 6�4����� ���
$��� �(� 7�=�( '� ()�����1 lk, k D  ������ �� $� 7�=�(1 ()��8
t1 '�=)�7�� �% �� k�� 7�=�-

D .)�4# ���)��% � ����(�#  ���� ( ����$%�9!1 ������9! �
E5�$���$%��F ( ')��6(�$%�9! ������9 ()����� '� $� (94��� ��
=)�"�� )�6#$%����( � '�)����)�( E4$8 ����)�$8F-

D .)�=)����9� &$��� )� �(���8 �  ��)���81 ���&��4��9�
4$8 �&� '�����8 '�4(�5�� �� =)�"���( �)�(9�1 )�64�$8�% � ���
 �(����! ()������! '�#6�!1 �- �- )� ����� )�7���! 4$8  $�4#:�
;�=� ������� ()�����1 � �� � �# �(����! 6�4�)5��!  ����-

�&4(&)7#,B&2$'0&= ':&')0

@- ��7$8��( �- �- � 4)- ��""�)��<��$%�9� #)�(����8 �����
������ ��! "�6��� 0�- �- ��7$8��(1 H- �- �$���)1
�- �- ���)��(- �-/ ��6-����- $��-^ @I3*-

*- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
,- 	��(�$�( �- �- � 4)- L� $���9� ����49 0 �- �- 	��(�$�(1

�- .- N�4��(1 �- �- ��&�$%��(- �-/ ��#��1 @I2?-
>- ����) ��! 
- 
-1 �#$�� 
- �- L� $���9� ����49/ ���&-

'� �&�� 4$8 (#6�(- �-/ ��#��1 @I2I-

?+



+(,*, ��� ������ ��
����	� ����+�+�
����J�
� ����
����

���������
 �G���

.)�4$�=��� 8 �� $���� �  $�4�(��% ��$�&���8 #')#=�=�  ��)5�
�81 ')�4 ��($���9� ��4�$%: ��)����-

�(# $�!��8 )�6�� ���8  ����  (� ��� '�6(�$8��  )�(���% )��
&��# 8(�9� � ��8(�9�  ���1  �&$:4���� E�$� �� �&$:4����F 6����
��  ��)�����8 C��)=�� �� )�6�� ���� #)�(��- � '�$%6#�� 8 �$=��
)��� ���)����! ')�=����  =)�����9�� # $�(�8��1  �4�)5�;��
�� )�6�� ��9� �'')�� ���<�� (��)�=� '�)84�� 4$8 ')��6(�4�9�-

�� ����9� "�)�#$9 4$8 )��$�6�<�� =)�����9� # $�(�! ( ')��
=���� E( 6�(� ��� �� �� ����)����=� (�)�����F ')�4$�=��� 8 � �
'�$����$: (9(� ��  ��� ��8��$%��1 ���&��4��9� ���'�����9 ���
 ��(�=� )�7���8 64� % (94�:� 8 =���(9�� � � '�$%6�(���:-

�� �)'.,/)*0, 1,%,2&

�)�(����8 ��$�&���! E'�)�&�$��� ��=� ��'� MF ����� (�4

∂2w

∂t2
+ d2∂

4w

∂x4
= 0, (0 ≤ x ≤ 1, 0 ≤ t ≤ T1 <∞). E@F

�4� % w D ���$������  ��)5�8 �� '�$�5���8 )�(��(� �81
d D ��C""�<���� �6=�&��! 5� ��� ��-

��  ���)�� (�)����9 =)�����9� # $�(�!-

.)� x = 0 :
QF w(0, t) = 0, w′(0, t) = 0 D 5� ���� 6�;��$����Z
RF w(0, t) = 0, w′′(0, t) = 0 D 7�)��)��� 6��)�'$����Z
AF w′′(0, t) = 0, w′′′(0, t) = 0 D  (�&�4�9! ����<-

.)� x = 1 ���$�=����/
QF w(1, t) = 0, w′(1, t) = 0 D 5� ���� 6�;��$����Z

?@



RF w(1, t) = 0, w′′(1, t) = 0 D 7�)��)��� 6��)�'$����Z
AF w′′(1, t) = 0, w′′′(1, t) = 0 D  (�&�4�9! ����<-
����$%�9� # $�(�8 ')� t = 0 (ϕ, ψ D 6�4��9F

w(x, 0) = ϕ(x),
∂w

∂t

∣∣∣∣∣
(x,0)

= ψ(x).

�(�4�� '�)�����9� D  ��)� �% v � �6=�&�#: 5� ��� �% u :

v =
∂w

∂t
, u = d

∂2w

∂x2
. E*F

��=4� �6 #)�(����8 E@F '�$#���  � ���#

∂v

∂t
= −d∂

2u

∂x2
; E,F

∂u

∂t
= d

∂2v

∂x2
, E>F

� =)�����9� # $�(�8 ”a ”b ”c” ')��#� (�4

a) v(0, t) = 0, v′(0, t) = 0, v(1, t) = 0, v′(1, t) = 0; EGF

b) v(0, t) = 0, u(0, t) = 0, v(1, t) = 0, u(1, t) = 0; E3F

c) u(0, t) = 0, u′(0, t) = 0, u(1, t) = 0, u′(1, t) = 0. E?F

����$%�9� # $�(�8/ v(x, 0) = ψ(x), u(x, 0) = d · ϕ′′(x).
����5�8 #)�(����8 E,F1 E>F �� v � �� u1  �$�49(�8 � �����

=)�)#81 '�$#����  #����� # $�(�! EGF1 E3F1 E?F (9)�5���8 4$8
C��)=��

E =
1
2

1∫
0

(v2 + u2)dx,
∂E

∂t
= 0. E2F

����� �&)�6��1 C��)=�8 E 4�$5�� &9�% '� ��8���!- �4���� )� �
�����8 C��)=�8 E (  �$# ')�&$�5���� �� )�6�� ���=� ����4�F '��
 ��8���! #5� �� &#4��- K��$� �%KC��=� ��'� ��8� �(� ��5��  $#�
5��% ���� �(���9� ����)�$�� )� ����(-

?*



3� �,1/)'./,� '<$?,

�(�4�� )�(����)�#:  ���# xj = jh, h = 1/N, (j = 0, ..., N),
tk = kτ, τ = rh2/d, (k = 0, ...,K). �4� % r = dτ/h2 D 6�4���9!
"�� �)�(���9! '�)����)- �(�4�� ���5�  �����9� (�$����9

vj = vk
j ≈ v(xj , tk), v̂j = vk+1

j ≈ v(xj , tk+1),

uj = uk
j ≈ u(xj , tk), ûj = uk+1

j ≈ u(xj , tk+1).

�&�6����� Yj = [vj , uj ]T .
�� ���� E3F1 E?F &#4��  ���(�� �(�(��%  � ���� )�6�� ��9�

#)�(����!  6�4���9�� (� �(9�� '�)����)��� α1, α2

L1(Ŷj) ≡ (v̂j − vj)/τ + d[α1Λûj + (1 − α1)Λuj ]/h2 = 0, EIF

L2(Ŷj) ≡ (ûj − uj)/τ + d[α2Λv̂j + (1 − α2)Λvj ]/h2 = 0. E@+F

�4� % Λuj = uj−1 − 2uj + uj+1; 0 ≤ α1, α2 ≤ 1; j = 1, ..., N − 1;

��6�� ��#:  � ���# EIF1 E@+F1 �'')�� ���)#:;#:  � ���# E,F1
E>F  '�)84��� O(τ +h2) �$� O(τ2 +h2) ( 6�(� ��� �� �� '�4&�)�
α1, α21 ��5�� 6�'� ��% ���'�����

AŶj−1 +BŶj + CŶj+1 = Gj , E@@F

=4� ((�4��9 �&�6������8

A = C =
(

0 rα1

−rα2 0

)
, B =

(
1 −2rα1

2rα2 1

)
,

Gj =
[
vj − r(1 − α1)Λuj

uj − r(1 − α2)Λvj

]
. E@*F

����� �&)�6��1 #)�(����� E@@F "�)��$%�� (9=$84�� ���  ���
$8)���-

?,



�� I)#?8(9 :#)7)/0&

��7����  � ���9 E@@F �;�� 8 ( (�4�

Ŷj = Pj Ŷj+1 +Qj , E@,F

�$� E'����'�������F

v̂j = p11,j v̂j+1 + p12,j ûj+1 + q1,j ; E@>F

ûj = p21,j v̂j+1 + p22,j ûj+1 + q2,j , E@GF

�4� % Pj =
(
p11,j p12,j

p21,j p22,j

)
, Qj =

[
q1,j

q2,j

]

���)�����(����)�9� ��C""�<����9 ')�=����-
.� ���$�=��  �  ��$8)��! ')�=����! 64� % �����

Pj = −(APj−1 +B)−1C, Qj = (APj−1 +B)−1Rj , E@3F

=4� Rj = Gj − AQj−1. � $� �6(� ��9 E #����� =)�����9� # $��
(�!F 6������8 P0, Q01 �� '� "�)�#$�� E@3F ����48� 8 ( � Pj , Qj

4$8 j = 1, ..., N − 1- � $� �6(� ��� (����) ŶN 1 �� '� "�)�#$��
E@,F ����48� 8 ( � Ŷj , (j = N − 1, ..., 0). .)� C��� (9)�5���8 (
"�)�#$�� E@3F $#�7� ( �=� )� '� ��% '����'�������-

�&�6����� ���'�����9 �&)����! ���)�<9 �6 "�)�#$ E@3F

(A+ Pj−1B)−1 = Mj−1 =
(
m11,j−1 m12,j−1

m21,j−1 m22,j−1

)
.

�� $�5�� '���6��%1 ��� ���'�����9 ���)�<9 Mj−1 (9)�68� 8
��)�6 ���'�����9 ���)�< A,Pj−1, B ���/

m11,j−1 =
1 − rα2p12,j−1

∆
; m12,j−1 =

rα1(2 − p22,j−1)
∆

; E@?F

m21,j−1 = −rα2(2 − p11,j−1)
∆

; m22,j−1 =
1 + rα1p21,j−1

∆
; E@2F

?>



∆ = (1+rα1p21,j−1)(1−rα2p12,j−1)+r2α1α2(2−p11,j−1)(2−p22,j−1).

H$�����9 ���)�<9 Pj �6 "�)�#$ E@3F ')�4 ��(8� 8 ( (�4�

p11,j = m12,j−1rα2; p12,j = −m11,j−1rα1; p21,j = m22,j−1rα2; E@IF

p22,j = −m21,j−1rα1; (j = 1, ..., N − 1).

�������1 ��� C$�����9 ���)�< Mj−1, Pj �� 6�(� 8� �� '�)��
�����! tk1 � $� �� ��� �� 6�(� 8� C$�����9 ���)�<9 P0-

���'�����9 r1,j , r2,j (����)� Rj �6 "�)�#$ E@3F ���:� (�4

r1,j = vj − r(1 − α1)(uj−1 − 2uj + uj+1) − rα1q2,j−1,

r2,j = uj + r(1 − α2)(vj−1 − 2vj + vj+1) + rα2q1,j−1.

.� ��!4���9� E �- '- >-F 6������8� q1,0, q2,01 �  ��$� &9�%1
� r1,0, r2,0 E6�(� 8;�� �� tk MF )��#))����� ��!4#� 8 q1,j , q2,j '�
"�)�#$��

q1,j = m11,j−1r1,j +m12,j−1r2,j ; E*+F

q2,j = m21,j−1r1,j +m22,j−1r2,j . E*@F

�$8 )� ���� P0, Q0 ���&��4��� ')�($��% =)�����9� # $�(�8-

>� �$,(&1,@&� 7#,/&2/9< 8'()*&=

.)��6(�4�9� v′, u′ ( =)�����9� # $�(�8� EGF �$� E?F ���&��4��
�� E4$8  ��)�����8 (��)�=� '�)84�� ����� �� )� ����(F �'')���
 ���)�(��% )�6�� ��9�� (9)�5���8�� (��)�=� '�)84��- �$8 C���
=� ')�4�$5�� # $�(�� )�7���� 6�4��� � �&$� �% 4�! �(�8 #)�(�
����8 E@F 6� ')�4�$9 ��)�6�� 0 ≤ x ≤ 1 � ((�4�� 4�'�$����$%�9�
#6$9  ���� x−1, xN+1.

��'�)% ��5�� )�  ���)��% )�6�� ��9� #)�(����8 EIF � E@+F ��
$�(�! � ')�(�! =)���<��-

>��� 
$*9= 0)/$@ (x = 0)

?G



� '�$%6#8 (9)�5����

v̂′0 = (v̂1 − v̂−1)/(2h) �$� û′0 = (û1 − û−1)/(2h),

)�6�� ��9� #)�(����8 EIF �$� E@+F ')� j = 01 '�$#��� ( $:&��
(�)����� ”a ”b” �$� ”c” (9)�5���8 (�4�

v̂0 = β11v̂1 + β12û1 + γ1,
û0 = β21v̂1 + β22û1 + γ2,

}
E**F

���#4� �6  )�(����8  "�)�#$��� E@>F � E@GF ')� j = 0  $�4#��

p11,0 = β11, ..., p22,0 = β22, q1,0 = γ1, q2,0 = γ2.

��  ���)�� ��7� (�)����9/
a) v̂0 = 0 · v̂1 + 0 · û1 + 0 = 0,

v̂′0 = (v̂1 − v̂−1)/(2h) = 0,
L2(Ŷ0) = 0, v′0 = (v1 − v−1)/(2h) = 0;

⎫⎬
⎭

�4� % L2(Ŷ0) (68�� �6 #)�(����8 E@+F-

b) v̂0 = 0 · v̂1 + 0 · û1 + 0 = 0,
û0 = 0 · v̂1 + 0 · û1 + 0 = 0.

}
H��  � ���� #5� ����� (�4 E**FZ

c) û′0 = (û1 − û−1)/(2h) = 0,
L1(Ŷ0) = 0, u′0 = (u1 − u−1)/(2h) = 0,
û0 = 0 · v̂1 + 0 · û1 + 0 = 0.

⎫⎬
⎭

�4� % L1(Ŷ0) (68�� �6 #)�(����8 EIF-

>�3� �#,*9= 0)/$@ (x = 1)

.)�4'�$�=�:� 8 #5� '� ������9�� 6������8 p11,j , ..., q1,j , q2,j

4$8 j = 1, ..., N − 1- ��=4� 6������8 v̂N , ûN ��!4#� 8 )�7�����
�4��! �6  � ���/

?3



a) v̂N = 0,
v̂′N = (v̂N+1 − v̂N−1)/(2h) = 0,
L2(ŶN ) = 0, v′N = (vN+1 − vN−1)/(2h) = 0,
v̂N−1 = p11,N−1v̂N + p12,N−1ûN + q1,N−1;

⎫⎪⎪⎬
⎪⎪⎭

�4� % L2(ŶN ), v̂N−1 (68�9 �6 #)�(����! E@+F � E@>FZ

b) v̂N = ûN = 0 D  $�4#�� ��'� )�4 �(���� �6 # $�(�! E3F-

c) ûN = 0,
û′N = (ûN+1 − ûN−1)/(2h) = 0,
L1(ŶN ) = 0, u′N = (uN+1 − uN−1)/(2h) = 0,
ûN−1 = p21,N−1v̂N + p22,N−1ûN + q2,N−1.

⎫⎪⎪⎬
⎪⎪⎭

�4� % L1(ŶN ), ûN−1 (68�9 �6 #)�(����8 EIF � E@GF-

�� �,'2$. ŵj, Ê & :)7#$6/)'.& #$6$/&�

�9)�5���: 4$8 v �6 #)�(����8 E*F '� ��(�� (  ���(�� �(��
)�6�� ���� (ŵj − wj)/τ = (v̂j + vj)/2  '�)84��� �'')�� ���<��
O(τ2 + h2). �6 C��=� (9)�5���8 �����

ŵj = wj + τ(v̂j + vj)/2. E*,F

�$8 C��)=�� E �6 "�)�#$9 E2F ����� E'� "�)�#$� �)�'�<�!F

Ê =
1
2

N∑
j=0

cj(v̂2
j + û2

j ), E*>F

=4� cj D ��C""�<����9 "�)�#$9 �)�'�<�!-
��)�� '�=)�7�� �� )�7���8

‖ŵ − Ŵ‖C = max
j

|ŵj − Ŵj |, E*GF

=4� Ŵj = W (xj , tk+1) D �� ��(�� )�7���� E �- '- 3 F-

??



�� �$'.)*)$ #$6$/&$ W (x, t)

� ���� �(� �� ��(�=� (�6%��� )�7���� ��7�! 6�4���1 '�$#����
��� ����4�� )�64�$���8 '�)�����9�/

W (x, t) = T (t)X(x); E*3F

T (t) = C1 cos(ωt) + C2 sin(ωt), ω = z2d; E*?F

X(x) = d1 exp(zx) + d2 exp(−zx) + d3 cos(zx) + d4 sin(zx). E*2F

�4� % ��C""�<����9 d1, ..., d41 � ���5� z ����48� 8 �6 # $��
(�8 #4�($��(�)���8 )�7���8 E*3F �4��)�4�9� =)�����9� # $��
(�8� ”a ”b” �$� ”c”- � 4����! )�&��� C�� (�$����9 ')�4$�=�:� 8
� � '�$%6�(���: #5�  � ������9�� 4$8 $:&9� ���&���<�! =)��
����9� # $�(�!  $�(� �  ')�(�1 ��')���) E”a”B”b”F �$� E”c”B”a”F
� 4)-

���� �)?:)/$/.9 .$'.)*)7) #$6$/&� W (x, t)

�4� % ')�(�48� 8  � ������9� (�$����9 z1, d̄ = [d1, d2, d3, d4]1
6������8 di ��)��)�(��9 '� ����7���: � max

i
|di|/

@F (”a”B”a”) : z1 = 4, 7300407,
[0, 0087489, 0, 9912511, −1, 0, 9825022];

*F (”a”B”b”) : z1 = 3, 9266023,
[−0, 0003884, 0, 9996116, −0, 9992233, 1];

,F (”a”B”c”) : z1 = 1, 8751041,
[0, 1329522, 0, 8670478, −1, 0, 7340955];

>F (”b”B”a”) : z1 = 3, 9266023,
[−0, 0139374, 0, 0139374, 0, −1];

GF (”b”B”b”) : z1 = π = 3, 1415927,
[0, 0, 0, 1];

?2



3F (”b”B”c”) : z1 = 3, 9266023,
[0, 0139374, −0, 0139374, 0, −1];

?F (”c”B”a”) : z1 = 1, 8751041,
[0, 1329522, 0, 8670478, 1, −0, 7340955];

2F (”c”B”b”) : z1 = 3, 9266023,
[−0, 0003884, 0, 9996116, 0, 9992233, −1];

IF (”c”B”c”) : z1 = 4, 7300407,
[0, 0087489, 0, 9912511, 1, −0, 9825022].

C1 � C2 6�4�:� 8 ')��6(�$%��1 ��')���) C1 = 1, C2 = 0 �$�
C1 = 0, C2 = 1-

�� ��(9�� )�7���8�� 4$8 v � u &#4#�

V (x, t) = Ṫ (t)X(x), U(x, t) = d · T (t)X ′′(x), E*IF

� ����$%�9� # $�(�8 4$8 v � u ��=4�  $�4#�� '�4�&)��% '�4 C��
�� ��(9� )�7���8 E*3F1 E*IF1 �- �-

ψ(x) = Ṫ (0)X(x), ϕ(x) = T (0)X(x); E,+F

v(x, 0) = ψ(x), u(x) = d · ϕ′′(x), w(x, 0) = d · ϕ(x), E,@F

=4� (9)�5���8 T (t), Ṫ (t), X(x) '�$#���9  '���;%: "�)�#$ E*?F1
E*2F-

�� �$0)?$/%,@&& 0 :#)*$%$/&&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

.)�4�$��%  $�4#:;��/
@- ��4��% '�)����)9 6�4��� ( 4��'�6����

d ∼ 1, N = 10B160, K = 20BG++1

?I



0 ≤ α1, α2 ≤ 1, r = dτ/h2 = 0, 4B10.

*- .���6��%1 ��� (  ���(�� �(��  ���)����� ���� �)���)�8��
� �<������ 8(��8  ���� Eα1 = 0, α2 = 1F # $�(�� # ��!��(�1 �-
�- ��$%�� ')� r ≤ 1/21 � ��8(��8 Eα1 �= 0, α2 �= 0F # ��!��(�
&�6# $�(��1 �- �- ')� $:&9� r-

,- .���6��%  ��4��� �% �� $����=� )�7���8 � ������# E4$8
# ��!��(�!  ���9F1 �- �-1 ��� ‖w −W‖C → 0 ')� τ, h→ 0.

>- .���6��%1 ��� �� $����� )�7���� ')� # ��!��(��  ����  ��
��(�� �(#�� "�6��� ���#  �9 $# #')#=�� ��$�&���!- .)� $�4��%
6� �6�������� C��)=�� (� ()��8  ���� ')� ')��6(�$%�9� α1, α2 E�
6� �� '� ��8� �(�� ')� α1 = α2 = 1/2F-

G- .)�4# ���)��% ( ')�=)���� (�6��5�� �% � ����(��  ����
E4$8 ���$�6� )�6#$%����( ( 4���9! ������F  '� $�4#:;�� ')��
4�$5����� �$� (9��4�� �6 )� ���� (�)�����-

3- �94��% �� =)�"�� (�$����9 vj , uj , wj , Vj , Uj ,Wj  �  ��)����
�� ')�494#;�� E'� ()�����F =)�"���(1 �- �- K( 4(�5����K- .)�4#�
 ���)��% (�6��5�� �% &$���)�(�� (94�� ��4�$%�9� (�$���� �6
C��=� ��&�)�  <�$%: #')�;���8  $�7���  $�5��! '�4(�5��!
��)���9 ��$�&���!-

?- �94�(��% �� C�)�� E '�4(�5�9�� =)�"�����F '�)����)9
'� ����(�� 6�4��� � )�6�� ���!  ���91 � ���5� ()������!  ����
��� k1 ��)�# '�=)�7�� �� ‖w −W‖C � C��)=�: E-

2- �$�4#�� ����% ( (�4#1 ��� (  �$# $���!�� �� � �4��)�4���
 �� #)�(����8 E@F � �)��(9� # $�(�! 6�4��� ��� ��#� )�7���8 w
&#4�� $���!��1 � C��)=�� D �(�4)������ 6�(� ��% �� ��� ��#��
����$%�9� 4���9�-

���������

@- ������!�) �-1 ��)��� �- ��6�� ��9� ����49 )�7���8
�)��(9� 6�4��- �-/ K��) @I?*-

2+



+(,*, �3� ��F��	� 	���+��
���+�
�������	
 I���+�
���
�����+� ����

�6(� ���1 ��� ����=)�$%��� #)�(����� �)�4=�$%�� '�)(�=�
)�4� 8($8�� 8 ����))�����! 6�4���!- ��� #=�4�� ��$9� (�6�#;��
��8 (��4�9� 4���9� E����� ')�(�! �� �� #)�(����8F1 ')�4 ��($8�
:;�� '�=)�7�� �� )�6#$%���� �&)�&���� C� '�)������ �$� ����
'%:��)�9� '�=)�7�� �� ')� (9�� $����1 ')�(�48� � ������9�
� &�$%7�� '�=)�7�� �8� )�7���8-

� 4����! )�&��� '�)�4 ��'� )�4 �(���9� )�7����� ����=)�$%�
��=� #)�(����8 ')�4$�=��� 8 ')�(� ��  �����)�6�<�: 84)� � )��
=#$8)�6�<�: '� ������(#-

�� �)'.,/)*0, 1,%,2&

��  ���)�� #)�(�����

b∫
a

G(x, s)u(s)ds = f(x), c ≤ x ≤ d. E@F

�4� % G(x, s) D 6�4����� 84)�1 f(x) D 6�4����8 �$�  '�<��$%�
�� '�4�&)����8 "#��<�8- � $� �6(� ��� ���5� �� ��(�� )�7����
U(s) #)�(����8 E@F1 ��

f(x) =

b∫
a

G(x, s)U(s)ds. E*F

��4��� E@F C�(�(�$����� 6�4��� ������6�<�� "#��<����$�

Φ(u) =

d∫
c

[

b∫
a

G(x, s)u(s)ds− f(x)]2dx. E,F

2@



��7���: C��! ����))�����! 6�4��� 4�$5�� ')�47� �(�(��% ')��
<�4#)� )�=#$8)�6�<�� E����� '� ������(#F- �$8 C��=� '� �)���
)�=#$8)�6�(���9! "#��<����$

Φ1(u) = α[

b∫
a

p0u
2ds+

b∫
a

p1u
′2ds] + Φ(u), E>F

=4� p0, p1, α D 6�4���9� '�$�5���$%�9� '�)����)91 Eα ��$�F-

3� �$.)% #$6$/&�

�(�4�� 4$8 �&$� ��! �6������8 x, s )�(����)�9�  ���� � ���
C""�<����9 "�)�#$9 �)�'�<�! cs,l, cx,j :

xj = c+ jh1, h1 = (d− c)/N, j = 0, ..., N ;

sl = a+ lh, h = (b− a)/M, l = 0, ...,M ;

cx,j =
{
h1/2, � $� j = 0, N,
h1, � $� 0 < j < N,

cs,l =
{
h/2, � $� l = 0,M,
h, � $� 0 < l < M.

�4� % N,M D 6�4���9� <�$9� '�)����)9-
������� ( "#��<����$� E>F (��)�! ����=)�$ ')�&$�5���9�

'� "�)�#$� ')8��#=�$%����(1 � ��$%�9� D '� "�)�#$� �)�'�<�!-
.�$#���

Φ(h)
1 = α(p0

M∑
l=0

cs,lu
2
l + p1h

M∑
l=1

(
ul − ul−1

h
)2) + Φ(h), EGF

=4� Φ(h) =
N∑

j=0

cx,j(
M∑
l=0

cs,lG(xj , sl)ul − f1
j )2,

f1
j = f(xj) + εj , |εj | ≤ ε. εj D  $#��!�9� ��$9� '�=)�7�� ��1 ��

')�(� ��48;�� 6�4����! (�$����9 ε. � $�(�8 �����#�� "#��<��
���$� EGF ∂Φ(h)

1 /∂uk = 0 4�:�  � ���# $���!�9� �$=�&)���� ���

2*



#)�(����!

M∑
l=0

(αTk,l +Rk,l)ul = Fk, (k = 0, ...,M), E3F

=4�

Rk,l = cs,kcs,l

N∑
j=0

cx,jG(xj , sk)G(xj , sl), E?F

Fk = cs,k

N∑
j=0

cx,jG(xj , sk)f1
j ; E2F

Tk,l =

⎧⎨
⎩

p0cs,k + zp1/h, � $� |k − l| = 0,
−p1/h, � $� |k − l| = 1,

0, � $� |k − l| > 1.
z =

{
@1 � $� k = 0,M,
*1 � $� k �= 0,M.

EIF
�� ���# E3F ��5�� )�7��% '� ��#  # E5�$���$%�� '�  ����

4�)���! ')�=)����F- .�4&�)�� α ��5�� 4�&��% 8 ('�$�� #4�($��
�(�)���$%��=�  �('�4���8 )�=#$8)�6�)�(����=� )�7���8 C��!  ��
 ���9  �� ��(9� )�7����� U(s)-

�� �$0).)#9$ *,#&,/.9 1,%,/&=

�4� % ')�4$�=�:� 8 "#��<�� G(x, s), U(s), f(x) :

@- G(x, s) =
√

1/π exp(−(x− s)2), b = −a, d = −c, |a| ≥ 1;

U(s) =
{

(1 − s2)2, � $� |s| ≤ 1,
0, � $� |s| > 1,

f(x) =
b∫
a
G(x, s)U(s)ds.

*- G(x, s) = cos(πsx/a), b = −a, d = −c, a �= 0;
U(s) = 1 − (s/a)2;

f(x) = |a|
{ 4

3(1 − t2/10), � $� |t| ≤ ε1,

− 4
t2

(cos(t) − sin(t)
t ), � $� |t| > ε1,

2,



t = πx, ε1 ≈ 10−4.

,- G(x, s) = cos(πsx/a), b = −a, d = −c, a �= 0;
U(s) = cos2(πs

2a );
f(x) = |a|[ sin(πx)

πx + 1
2( sin(π(x+1))

π(x+1) + sin(π(x−1))
π(x−1) )].

��� �%1 ��� ')� ��$9� |z| sin(z)
z ≈ 1 − z2/6-

>- G(x, s) = 1/((x− s)2 + 1), a, b, c, d � $:&9�Z
U(s) = sin2(πY ), =4� Y = (s− a)/(b− a);

f(x) =
b∫
a
G(x, s)U(s)ds-

G- G(x, s) = 1/(x+ s+ 1) a, b, c, d ≥ 0;
U(s) = (b− a)2Y (1 − Y ), Y = (s− a)/(b− a);
f(x) = [β2/2 + p1β − p1(p1 + β) ln(1 + β/p1)],
=4� β = b− a, p1 = a+ x+ 1.

� � C�� (�)����9 D ')���)9 )��$%�9� 6�4��-

>� �$0)?$/%,@&& 0 :#)*$%$/&A #,'2$.)*
& ?$.)%&2$'0&< &''($%)*,/&=

@- ��$� ��&)�6�� 6�4�(��% '�)����)9 6�4��� ( 4��'�6����
MP@+B*+1 NP*+BG+1 εP+B+1++@1 p0, p1 ≈ 1,
α = 10−1B10−19.

*- ���)�<# (Rk,l) � (����) [Fk] (  � ���� E3F  $�4#�� K6�=��
��(��% (94��% E�� �%F � #&�4��% 8 ( ��� 1 ��� ���)�<�  ������
)����- ��$%�� '� $� C��=� 6�4�(��% '�)����)9 p0, p1, α- ���)�<#
ETk,lF  '�<��$%�� '�$#���% �� �����  �9 $�1 ��� ��� ��� $�=��
#���9(��� 8 ��� K'�')�(��K� 6�=���($����! ���)�<� (Rk,l)-

,- �)��� '�4&�)� �'����$%��=� α = α∗1 �&� '���(�:;�=� ����
 ���$%���  �('�4���� )�7���8  �� ���1 (94�$���9� �)#5����1
E)� - @@1 �F1 #&�4��% 81 ��� ')� α � α∗ E)� - @@1 �F )�=#$8)�6��
(����� )�7���� &#4�� =$�4���1  �$%�� )�6��6���9� � 4�$��� ��
 �('�4�:;��  �� ��(9�1 � ')� α� α∗ E)� - @@1 �F )�=#$8)�6�<�8

2>



')������ �� ���$:���� 81 � )�7���� K)�6&�$�9(��� 8K-
>- � $� 4$8 6�4����=� �� ��(�=� )�7���8 ��� ���$����� ��

6�4����! ')�(�! �� ��1 �� �� ��5�� '�$#���% �6  �����7���8 E*F
 � '�$%6�(����� "�)�#$9 �)�'�<�!

f(xj) =

b∫
a

G(xj , s)U(s)ds ≈
M∑
l=0

cs,lG(xj , sl)U(sl). E@+F

�� - @@

G- ������� ������6�<�� "#��<����$� Φ(h)
1 ( "�)�#$� EGF ���

(869(��� # $�(�� u′(a) = u′(b) = 0 ( )�7���� u(s)- H�� ���&��4��
�� #���9(��% ')� ���$�6� )�6#$%����(1 � �&����1 ��=4� # �� ���
(�=� )�7���8 U ′(a) �= 0, U ′(b) �= 0.

�&4(&)7#,B&2$'0&= ':&')0

@- ��$����� �- �- L� $���9� ����49- �-/ ��#��1 @I?2-
*- ������( 
- �-1 
) ���� �- �- ����49 )�7���8 ����))����

�9� 6�4��- �-/ ��#��1 @I23-

2G
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